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HPEAUCIOBUE

Hacrosimee nmocobue npeacTaBisieT co0oil yacTh yueOHO-METOANYECKOTO
KOMIUIEKCA IO aHTJIMHCKOMY SI3BIKY JJI CTYJE€HTOB SKOHOMHYECKUX CIICIIU-
anpHOCTEW. OHO BKJITIOYAET B ceOsl UTOTOBBIC TECTHI JJIs AyJUTOPHON M CaMo-
CTOSITEIPHOM pabOTHI CTYJCHTOB W HANIPABIICHO Ha BHISBJICHHUE YPOBHS 3HAHUIA
¥ YMEHH 10 aHTJIMHCKOMY SI3BIKY Y CTYJE€HTOB B 00JIACTH YKOHOMHUKH U OM3-
HEC aJIMUHUCTPUPOBAHUSL.

Hapsny ¢ 6a30BbIM y4eOHUKOM MPOQPECCHOHATHHO OPHUEHTHPOBAHHOTO Xa-
pakrepa (“English for Economists”), “IIpakmukymom 0151 camocmosamenbHou
pabomwvl cmydeHmog”, TEPMUHOJIOTHIECKUM clloBapeM U “Memooduueckumu
pexkomeHoayusamu O0nsi npenodasameneu’, “Umocosvie mecmuvl” BXOIAT B
YHUCIIO O0S3aTENbHBIX 3JIEMEHTOB YYEOHO-METOJAMYECKOr0 KOMIUIEKCa, CIO-
COOHBIX MHTCHCHU(DHIIMPOBATH YUEOHBIN MPOIECC MO0 WHOCTPAHHOMY SI3BIKY H
pa3zHooOpa3uTh GOPMBI €T0 ITPOBEACHUS.

[TocoGue cocTouT U3 NBYX BUIOB TecToB. Achievement tests nmpeacraBis-
10T COOOM MUTOTOBBIE TECTHI MO KaXJAOMY pasliely OCHOBHOTO y4yeOHHKA. As-
sessments Tests moctpoens! o ¢popmary TOEFL u HanpaBieHbl Ha MOHUMA-
HUE MPOYUTAHHOTO U KOPPEKTUPOBAHWE TPaMMATHUECKON CTPYKTYPHI Tpe-
noxeHusa. Becb matepuan 0a3upyercss Ha SKOHOMHYECKOMN JEKCHUKE, YCBOCH-
HOM B mpolecce u3y4eHus Kypcea.



ACHIEVEMENT TESTS

I. PROFESSION OF AN ECONOMIST

Task 1. Complete the sentences, use your active vocabulary.

l.
2.
3.

The combination of salary plus perks is ...

Money that some professions charge for a particular service they have done is ...
Money that you receive as payment from the organization you work for,
paid monthly is ...

Extra payments such as a company car, free accommodation etc. is ...

. Money you earn that is paid according to the number of hours, days, or

weeks that you work is ...
. 1s a person who is successful in business and so has become rich and
powerful.

Task 2. Match the words in column A with their definitions in column B.

A B

1) economic a)to reduce the amount of money, time, goods etc that you use

2) economical | b) someone who studies the way in which money and goods

are produced and used and the system of business and trade

3) economist | ¢) the careful use of money, time, goods etc so that nothing is

wasted

4) economics | d) using money, time, goods etc carefully and without

wasting any

5) economy e) the study of the way in which money and goods are pro-

duced and used

6) economize | f) connected with trade, industry, and the management of

money

Task 3. Insert the prepositions:

1.
2.

O os W

Economists are employed ... a number ... different job settings.

Most students studying ... the university ... the first time take a Bachelor’s
degree.

Business economists work ... bank.

Entrepreneurs make a profit ... risk-taking or initiative.

. Students at Leicester Business School follow more specialist routes ...

courses such as accounting and finance or public policy.
Students at the BSU are prepared ... careers as professional economists ...
business and government.



Task 4. Choose the right option.

1. Entrepreneur is a(n) ... word.
b) Latin;
c) English;
d) French;
e) Greek.

2. Economists ... prices, compute total output and perform other useful tasks.
a) control;
b) check;
¢) monitor.
3. About half of economists are ...
a) government economists;
b) academic economists;
c) business economists;
d) entrepreneurs.
4. A bachelor’s degree requires ... of college.
a) one year;
b) four years;
c) three years;
d) five years.

Task 5. Match outstanding economists and their works.

1) Adam Smith a) Principles of Political Economy and Taxation

2) David Ricardo | b) General Theory of Employment, Interest and Money

3) John Maynard | c) An Inquiry into the Nature and Causes of the
Keynes Wealth of Nations

Task 6. Translate into English.

Marnat, yacTHbIM NpeanpUHUMaTeNb, pabodyee MeCTO, JOMOIHUTEIbHbIE
JBIOTHI, 3apaboTHas IJiaTa, *aJlOBaHbE/OKIaJ, MpPeACKa3aHUue/IPOrHo3, akKa-
JE€MUYECKUI/TeOpeTUUECKHM, paclpeesieHne, SKOHOMUYECKUNA, IKOHOMHBIM,
HAJOroBOE MOCTYIJIEHUE, MpUoOpeTaTh Npodeccrio 3KOHOMUCTA, MPOSBIAThH
CIIOCOOHOCTH K YeMY-JIN00, YIpaBisTh paboTOM, CTeNeHb OakanaBpa, CTENEHb
MarucTpa, ynpaBJiaTh CBOUM COOCTBEHHBIM OM3HECOM, U3ACP>KKH/3aTPAThI.



II. ECONOMICS AS A SCIENCE

2.1. Economics and Economic Methods

Task 1. Rearrange the following words to make up the sentence:

a) condition/ greater/ in/ which/ human/resources/than/ the/ scarcity/ is/ wants/
the/ are/ available.

b) cost/ the/ next/ particular/ best/ want/ is/ opportunity/ resources/ given/ is/
use/ up/ in/ when/ way/ alternative/ to/ that/ you/ a.

c) use/ their/ sold/ personal/ consumer/ are/ for/ finished/ to/ products/ own/
goods/ consumers.

d) much/ in/ economical/ more/ bulk/ is/ buy/ it/ to.

Task 2. Complete the sentences using the words given below: economic
goods, consequences, economic analysis, scarcity, value, result, logic.

I. ... are things of.....that you can see, and show to the others.

2. Because of....., it is impossible to satisfy every desire.

3. Principles and theories - the end.....of.....

4. We use....., graphs, or mathematics to determine the.....of the assumptions.

Task 3. Translate into English:

1) mepcneKTUBHBIN B3TIIAL; 6) Oorartsiif;

2) yny4umaTh Ka4ecTBO; 7) MarepuanbHbIii;

3) HeyAOBIIETBOPEHHBIE MOTPEOHOCTH; 8) mpeanoaoKeHue;

4) 3KOHOMHBII; 9) pa3meleHnue;

5) neHexHO-HaJoroBas MOJUTHUKA; 10) ToBapsl MPOU3BOJCTBEHHOIO
Ha3HAYCHUS.

Task 4. True or false:

1. Something that is economical requires a lot of money to operate.

2. Microeconomics is a branch of economics that studies such variables as

unemployment, growth of economy, national incomes, money supply,

monetary policy.

Opportunity cost is your limited income.

4. Entrepreneurship is a function of combining and organizing natural re-
sources, capital goods, labour, assuming the risks of business failure, and
providing the creativity and managerial skills necessary for production to
take place.

W



5. Facts are how individuals and institutions behave in producing, exchang-
ing, consuming goods and services change with time.

Task S. Tell the definition of words:

a) economics;
b) factors of production;
¢) an economic model.

Task 6. Choose the right variant:

1. Macroeconomics is a branch of economics that studies such variable as:
a) inflation;
b) society;
c) supply and demand.
2. Choose the natural resources:
a) tools, trucks, railroads;
b) water, forests, air;
c) food, clothing, newspapers.
3. How do opportunity costs affect both individuals and nations?
a) a state must spend less money on education;
b) an individual has to give up something that gives him pleasure;
c¢) an individual or a nation has to sacrifice something for the choice made.

Task 7. Complete the crossword, finding English equivalents:

Glues Across: 1) mpou3BojicTBO; 2) npuObUIb; 3) KanuTad, 4) 3aprJara;
5) motpebnenue; 6) U3ACPKKH, 1IeHa; 7) akuus; 8) Tpyn; 9) nebunur; 10) BbI-
MyCK NPOAYKUUHU (IPOU3BOAUTENBHOCTH); 11) noxox; 12) pacxon; 13) ycuyru.

Glues Down: 1) nokynka; 2) cnpoc; 3) undmnsauus; 4) 6orateiii mpeanpu-
HUMaTelb; 5) pabouuii; 6) Hamor; 7) pacnpenesneHue; §8) 1eHa ToBapa; 9) ao-
xon; 10) exxemecsunas 3apruiata; 11) skoHomuka (mpeamer); 12) AomoiaHu-
TeJbHbIE TPEUMYIIECTBA (BBITOAbI); 13) npeanpuHUMATEb.
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2.2. Economic Systems

Task 1. Insert the articles if necessary.

l.
2.

W

N oW

In a democracy, voting procedures determine  society’s will.
It is necessary to decide what kinds of ~ consumer and capital goods
will be produced.
Food can be produced by  large or  small number of workers.
This question is the most difficult of all because it involves _ issue of
fairness.
The basic economic questions are answered directly by people involved.
A market economy is  opposite of a command economy.

. In such economies, buyers and sellers have  great deal of economic
freedom.
All major economies are mixed economies in ____ sense that some decisions
are made by  individuals and some are made by =~ governments.
Collapse of 2" World led to classification problems.
This term no longer made ___ sense.

Task 2. Choose the best word to complete the sentences:

1.

2.

An economic system works via the ... of three invisible forces. (intersec-
tion, interference, interaction)

An economic system is closely tied to a ... system. (political, social, finan-
cial)

. No nation can produce enough goods and services to satisfy everybody’s

... . (needs, wants, desires, wishes)
In ... economy each unit produces most of its own goods and consumes
what it produces. (command, mixed, traditional)

. In ... economies individuals have little control or influence over the way

the basic economic questions are answered. (traditional, command, market)
In ... economies buyers and sellers send signals to one another as they in-
teract through the system. (traditional, command, market, mixed)

... economies face the task of moving from a centrally planned system to-
wards a more market-oriented approach. (mixed, transition, traditional)

Task 3. Define the following:

1. An economic system is... 5. Market economy is...
2. Three basic economic questions are... | 6. Mixed economy is...

3. Traditional economy is...

7. Transition economy is...

4. Command economy is...



Task 4. Translate into English.
A. Words and expressions:

I[e(I)I/II_II/IT, AJIbTCPHATUBHAA CTOMMOCTDH, HCBUIUMBIC CUJIBI, IIPHUHATHUC 3KO-
HOMHYCCKHNX pemeHI/Iﬁ, nponcaypa rojJIoCOBaHUsA, OTPAHUYCHHBIC PCCYPCHI,
paBHAaA O0J1, CpCACTBA IMPOU3BOACTBA, YIOBICTBOPUTDH HOTpe6HOCTI/I, 9KOHO-
MUKaA IICPCXOIHOTO IICpUoaa.

B. Sentences:

1. Heobxonumo pemuTth, KaKue TOBAPHI U YCIYTH MPOU3BOJACTB, UCIONB3YS
OTpaHUYEHHBIE PECYPCHI.

2. DTOT BOINPOC CaMblil TPYJIHBIH, T.K. OH BKJIIOYAET MPOOJIEMY CpaBeJTUBOCTH.

CylecTBYIOT TP OCHOBHBIX CIIOCO0A MPUHSATHS SKOHOMUYECKHX PEIICHUH.

4. B koMaHJHON 3KOHOMHUKE MPABUTEIBCTBO BIAJIEET MPUPOIHBIMU pecypca-

MU U CpeICTBaMU MPOU3BO/ICTBA.

AMepHuKaHCcKasi )KOHOMHKA SBIIAETCS MPEUMYIIECTBEHHO PHIHOYHOM.

6. CwmenraHHasi 5KOHOMUKA MPEACTABISIET COOON CMECh PhIHKA, MPABUTENIbCT-
BEHHOT'O BIUSHUS U TPAAUIIIH.

e

e
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1. THE MACROECONOMY

3.1. Gross Domestic Product

Task 1. Insert articles if necessary

1

2. ...

GDP is ... market value of all ... final goods and services produced within
... country in ... given period of time.

nominal GDP reflects both ... prices of ... goods and services and ...
quantities of ... goods and services ... economy is producing.

. Items are included in ... nation’s GDP if they are produced domestcally,

regardless of ... nationality of ... producer.

. Nominal GDP is ... value of all ... final goods based on ... prices existing

during ... time period of production.

. By holding ... process constant at ... base-year levels ... real GDP reflects

only ... quantities produced.
GDP adds together many different kinds of products into ... single measure
of ... value of ... economic activity.

... domestic firm’s sale to ... buyer in ... another country such as ...
Boeing sale to ... British Airways increases ... net exports.

NNP is ... total income of ... antion’s residents minus losses from ...
depreciation.

Task 2. Open the brackets, use the proper tense form.

1.

(To understand) how the economy (to use) its scarce resouces, economists
often (to interest) (to study) the compostion of GDP among various types
of spending.

Because GDP (to intend) (to measure) income from the production, transfer
payments (to count/not) as part of government purchases.

. Other measures differ from GDP (to exclude) or (to include) certain

categories of income.

. Disposable personal income is the income that households (to leave) after

(to satisty) all their obligations to the government.

. Market prices (to measure) the amount people (to pay) for the different

goods and (to reflect) the value of those goods.

The expenditure approach (to sum) the four major spending components of
GDP (to consist) of: consumption, investment, government purchases, net
exports.

11



Task 3. Identify the one underlined word or phrase marked A),B),C) or D)
that must be changed and correct the mistake.

1. A)If we could measure; B) these totals we could examine whether the;
C) resources available to the residents of a country; D) change through
time.

2. The A) unadjested; B) datum show; C) clearly that the economy produces
more goods and services during some time of a year; D) than during others.

3. A) By these two statistics we; B) can compute; C) a third called; D) the
GDP deflator.

4. A) There are some products that; B) GDP excludes because; C) to measure
them; D) is so difficult.

5. NNP is A) the total income of; B) a nation’s residents; C) minus losses;
D) from depreciation.

6. A) Although various measures of income; B) differ in detail they almost
always; C) tell the same story; D) about economic conditions.

7. A) To a macroeconomic; B) standpoint transfer; C) payments are like; D) a
tax rebate.

Task 4. Translate into English:

A. PbIHOYHAs CTOMMOCTh KOHEYHBIX TOBApOB U YCIYT; IOCYJapCTBEHHBIC
3aKyIKH; BCEOOBEMITIONIUHN; pacrojiaraeéMblii JOXO; YUCTHIA HAIMOHATbHBIN
MPOJAYKT; HAa BHYTPEHHEM pPBIHKE, MPOU3BOAUTH W MPOJAABATh HE3AKOHHO;
ce3oHHas KoppektupoBka; aedasrop BBII, nobaBounass cToMMOCTH; IO
JIOTOBOPEHHOCTH; aMOPTHU3ALIMS; TPOMEKYTOUYHBIE TOBAPHI.

B. TpauncdepHble mIaTexu He BBITUIAYMBAIOTCS B 0OMEH Ha MPOU3BOINUMBIC
B JIAaHHBIN MIEPUO]T BPEMEHH TOBAPHI U YCIYTH.

Hns HaOmrofieHWs 3a KoJIeOaHUSMH B MaKpPOOKOHOMHUKE HE HUMEET
3HAYEHUsI, KAKOM UMEHHO U3MEPUTEIh JOX0/1a UCIIOIb3YyETCHl.

UKCTBIN 3KCMIOPT PaBEH MOKYIKaM OTEYECTBEHHBIX TOBAapPOB MHOCTPAHIIAMH
(9KCTIOPT) MUHYC MOKYIKY B CTPAHE MHOCTPAHHBIX TOBAPOB (MMIIOPT).

UTOObI MOHATH, KAK IKOHOMHUKA WCIIOJIb3YET CBOM OTPAHUYCHHBIC PECYPCHI,
SKOHOMUCTBI 4YacTo paccMmarpuBaior BBII kak COBOKYIHOCTH pa3MYHBIX
pacxoJIoB.

BBII BkIo4YaeT CTOMMOCTh NPOM3BEACHHBIX TOBAapOB H YCIyr 3a
ONPEAECICHHBIA MPOMEKYTOK BPEMEHHU.

12



3.2. Inflation

Task 1. Find the opposites from A and B.

A B

1) inflation a) demand-pull inflation

2) income b) spending

3) creditors c) debtors

4) cost-push inflation d) surplus

5) recipient e) lender

6) shortage f) deflation
Task 2. Match the words in A with their definitions in B:

A B

1) base year a) a person making a loan

2) boundary b) the wear and tear on the economy's stock of
3) depreciation equipment and structures

4) personal income c) the income that households and non-corporate
5) disinflation businesses receive

6) lender d) the total income of a nation's residents (GDP)
7) net national product minus losses from depreciation

e) a decrease in the general level of prices
f) a year chosen as a reference point
g) a limit or a border

Task 3. Insert prepositions if necessary.

1. Inflation hurts people who have loaned ... money ... a rate ... interest that
didn't include an allowance ... an increase ... the average price level.

2. The average level... prices is called the price level and is measured ... a

price index.

Demand-pull inflation is usually associated ... conditions ...full employment.

4. Changes ... the CPI are based ... a typical market basket... products pur-
chased that doesn't match the actual market basket purchased ... many con-
sumers.

hat

Task 4. Complete the sentences:

1. The boundary between inflation and ... is price stability.

2. The ... ... is the percentage change in the price level.

3. Inflation hurts people living on ... money incomes.

4. ... ... 1s often expressed as "too much money chasing too few goods".

13



5.
6.

7.

One source of ... ... is supply shocks.

Demand-pull inflation occurs when the ... power in the economy increases
faster than the economy's productive ...

If inflation 1s correctly anticipated, contracts can be negotiated to include ... ...

Task 5. Choose the correct variant.

l.

There are two kinds of inflation. They are ...

a) Demand- Push and Cost- Pull Inflation.

b) Demand-Pull and Cost-Push Inflation.

¢) Demand-Push and Cost-Push Inflation.

The consumer price index (CPI) ...

a) measures the cost of purchasing a market basket of goods and services
by a typical household during a base year period relative to the cost of
the same bundle during a lime period.

b) is a measure that compares changes in the prices of all final goods dur-
ing a given year to the prices of those goods in a base year.

c) measures the cost of purchasing a market basket of goods and services
by a typical household during a lime period relative to the cost of the
same bundle during a base year.

Deflation is ...

a) a reduction in the inflation rate.

b) a decrease in the general level of prices.

c) a situation in which a decline in the purchasing power of money results
in a rise of the general price level.

Task 6. Say whether these statements are true or false.

1.

2.
3.

Cost-push inflation is an increase in the general price level resulting from
an increase in the cost of production.

Cost- push inflation is caused by too much money chasing for few goods.
Demand-pull inflation occurs when aggregate demand in the economy
increases faster than the economy's productive capacity.

Hyperinflation is an extremely rapid rise in the general price level.

The consume price index (CPI) is the most widely known price-level. It
measures the cost of purchasing a market basket of goods and services by
a typical household during a time period relative to the cost of the same
bundle during a base year.

Demand-pull inflation is an increase in the general price level resulting
from an increase in the cost of production.
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Task 7. Give the English equivalents for the following:

a) peajbHas MOKYIMATeIbCKass CIOCOOHOCTB;
b) kpeautop nocieaHe UHCTaHIINN;

C) COBOKYIHBIE PacXO/Ibl;

d) mpou3BOACTBEHHAs! MOIITHOCTH;

e) uHGIAIUS CIpoca;

f) cTumynupoBaTh pacxosl;

g) uHQIAIMOHHAsA Ha/10aBKa;

h) 3amemyieHne TeMIOB UHQIAINY;

1) U30BITOYHBIN CIPOC;

j) WHOIALMOHHBIC OXKUIAHUSA;

k) moku npeasioxeHus;

1) uHAEKC MOTPEOUTETHCKUX IICH;

m) NOHM)XEHHUE TTOKYIATEeIbCKON CITOCOOHOCTH.

15



3.3. The Business Cycle

Task 1. Mark if the statements are TRUE or FALSE.

l.

2.

7.

8.

Other things remaining constant, the higher the unemployment rate, the
lower is the inflation rate

During a boom, the demand for goods and services declines and the
economy begins to work at below its potential

. During a recession the economy expands to the point where it is work-

ing at full capacity, so that production, employment, prices, profits, in-
vestment and interest rates all tend to rise

The highest point on the business cycle is called a peak, which is followed
by a downturn or downswing or a period of contraction.

. The lowest point on the business cycle is called a trough, which is followed

by a recovery or an upturn or upswing or a period of expansion.

Investment is closely linked to consumption, and only takes place when
demand and output are growing.

Structural unemployment is unemployment caused by a mismatch of the skills
of workers out of work and the skills required for existing job opportunities.
Full employment means zero percent unemployment.

Task. 2. Expand the sentences:

1

2
3
4

The unemployment rate is ... .
Employment is ... .

The labour force is

Negative growth is ...

Task 3. Describe two of the following concepts.

1.
2.
3.
4.

Types of unemployment.

Categories of people termed “between jobs”.
Advantages of frictional and structural unemployment.
Impact of technology changes on unemployment.

Task 4. Identify the one underlined word or phrase marked A),B),C) or D)
that must be changed and correct the mistake.

1.

2.

A) The highest point on the business cycle B) is called a peak, which
C) followed by a downturn or downswing or D) a period of contraction.
When economic A) times are good or when people feel B) good C) about
the future, they spend, and D) run off debts.

. A) As soon as demand B) stop growing C) at the same rate, even at a
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4,

5.

6.

very D) high level, investment will drop.

A) To be classified as unemployed, a person B) must able and willing to
work, be actively C) seeking work, and be D) without a job.

A) How big this cost is B) depend on the C) natural rate of D) unemploy-
ment.

A) A raise B) in the unemployment rate also C) causes an increase D) in
the amount of crime.

Task S. Translate into English:

A.

[

Canbio; 00€CIIEHMBATHCS; YXYAIIATHCS; HHUCIIAs TOYKA IMKJIA; CIA;
PKOHOMUYECKUN TOIbEeM; CE30HHas O0e3paboTHlla; CHUKEHHUE HAJIOrOB;
UIIOTEKA; YBOJIBHEHUE, TIOJIHASI 3aHSATOCTh; JEQIISIUOHHBIN pa3phIB;
BBIITYCK MTPOAYKIINH;

@OpuknroHHas 6e3paboTuila CBsI3aHa C KPAaTKOCPOUHBIM TEPUOIOM, HEOO-
XOJMMBIM JIJIsi TIOUCKOB HOBOM pabOThI, B CBS3M C IMOJydeHHEM o0pa3oBa-
HUSI, BBIXOJIOM U3 IEKPETHOTO OTITYCKa, TIEPee3IOM.

C pocrom Omarococrosinusi GpukimoHHas Oe3paboTHila MOXKET BO3pac-
TaTh, & COKpAIllEHUE €€ BO3MOXHO MO Mepe YIy4IlIeHHs METOJI0B cOopa
uHpOpMaIMU 0 paboUnX MECTaX, YTO, TEM HE MEHEe, TPeOyeT yBeTnUYCHHUSI
U3JIEPIKEK.

CrpykrypHas 6e3paboTuiia cBsi3aHa C TIEPUOJIOM MOMCKa paboOThl TEMH pa-
OOTHHKAMU, Ybsl CIEIUATBHOCTh WM KBTH(HUKAIWS HE TMO3BOJSIIOT UM
HaWTU HEOOXOIMMYIO PaboTy.

CrpykrypHas Oe3paboTuiia cBs3aHa, TaKUM 00pa3oM, C HECOOTBETCTBHEM
CTpoca | MpeaoKeHUs Ha pabovylo CHITY.

[Muknuyeckas 0e3paboTHIla — 3TO pa3HUIIA MEXIY YPOBHEM 0e3pabOTHUIIbI
B JaHHBIH MOMEHT MPOMBIIUICHHOTO ITMKJIa M €CTECTBEHHBIM YpPOBHEM
0e3paboTHIIbI.

B ycnoBusix peneccuu, nukiandeckas 6e3padoruna n1o6aBisieTcss K Qpuk-
IIMOHHOM M CTPYKTYpPHOM, a B YCIOBHAX SKCIIAHCHH €€ HETaTHBHOE 3HaYe-
HUE COKpallaeT ypoBEeHb 0e3pabOTHUIlbl, BbIUUTAA IUKIUYECKYIO0 Oe3pado-
TUIY U3 PPUKIIMOHHON U CTPYKTYPHOM.
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3.4. Banking

Task 1. Match the words below to make word partnerships:

1) extension of; a) account;

2) savings; b) price;

3) to charge; ¢) management;
4) portfolio; d) credit;

5) futures; ¢) interest.

Task 2. Match the words from A with their synonyms from B:

1) to be in credit; a) discount rate;

2) base rate; b) to stop a cheque;
3) to clear a cheque; c) creditor;

4) lender; d) to be in the black;
5) a cashier; e) a bank teller.

Task 3. Insert prepositions:

1.
2. ...

3.

10.

1.

The Federal Reserve does not rely ... Congress for funding.

a result ...the Great Depression in the 1930, Congress gave the Fed
the authority to vary reserve requirements.

During World War 2, Federal reserve operations were subordinated ...
helping the Treasury borrow money ... low interest.

The governors are independent ... political pressure ... either Congress or
the president.

... the late 1950, the Fed’s emphasis was ... price stability and restriction
... monetary growth.

In 1979 the Federal Reserve adopted a policy aimed ... more directly
controlling the money supply.

Commercial banks make profit ... charging interest payments ... over-
drawn accounts.

The advantage ...overdrafts is that interest rate is repayable only ... the
amount owed ... a particular time.

In their pursuit ... high profit, the banks sometimes get involved ... risky
operations fraught ... bankruptcy.

Most financial institutions operate ... the principle ... attracting deposits
and then lending them ... the other customers.
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Task 4. Choose the correct answer:

l.

At the center of the U.S. banking system is...
a) the Federal Reserve System.

b) the National Bank.

c) the Central Bank of USA.

d) the Credit Union.

A country's minimum interest rate is usually fixed by...
a) the commercial banks.

b) the credit unions.

c¢) the central bank.

d) the investment banks.

The reserve requirements is...

a) the interest rate a central bank charges on loans of reserves to banks.

b) the sum of money equal to a certain percentage of deposits that a bank
must keep on hand.

c) one nation's currency that equals one unit of another nation's currency.

d) the currency supplied by the Central Bank both to the commercial
banks and to private circulation.

The yield is...

a) buying and selling stocks and shares for clients.

b) available cash, and how easily other assets can be turned into cash.
c) the date when a loan becomes repayable.

d) how much money a loan pays, expressed as a percentage.

To combat inflation the government will often...

a) decrease the interest rate.

b) raise the interest rate.

c) raise the reserve requirement.

d) decrease the exchange rate.

Task 5. Complete the following sentences:

1.
2.

A central bank of the Republic of Belarus is the
The Fed regulates the money supply by four basic tools: the

, the , buying and selling government bonds on the open
market and credit controls.
Commercial banks will lend money in two ways: by a and by an

In some European countries there have always been
combining deposit and loan banking with share and bond dealing
and investment services.
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5.

Commercial banks accept and use these funds to make

Task 6. Are the following sentences true or false?

1.
2.
3.

e

Creditors prefer low interest rates.

The Fed's main task is to set and implement monetary policy.

The commercial banks of the Republic of Belarus may be both state-owned
and non-state banks set up by founders on a share or contribution basis.

The overdraft is charge at a fixed rate of interest repayable over a fixed pe-
riod of time.

The commercial banks cater to big companies only.

The central bank in Britain can use control of interest rates, open market
operations and required reserves to influences the monetary base and over-
all interests rates in the economy.

The first level of the banking system is represented by commercial banks
through which the monetary policy of Belarus is implemented.

Task 7. Give the English equivalents:

1) Texymuii cuér; 6) omeparyu Ha OTKPBITOM PBIHKE;
2) 3aéM, KpEeauT; 7) neHexxHoe 0OpalleHue;

3) ueHa Ha HaJIMYHBIN TOBap; 8) BaitoTHas OupKa;

4) yu€THas CTaBKa, 9) mormoriecHue;

5) NONOXKUTH IEHbI'U Ha CUET; 10) cpok maTexa.

Task 8. Translate into English:

l.

2.
3.

e

Bb1 00s13aHbI pe1ocTaBUTh MHGOPMALIHMIO, TOATBEPKIAIONIYIO Ballly IJia-
TEXECIOCOOHOCTD.

51 O6B1 XOTEJI IepeBECTH CBOM BKJIaJ B APYro OaHK.

CornacHo MOCTaHOBIEHHUIO OaHK 00s3aH BepHYTHh BkiIaguuky 2 000 § B
ciy4yae OaHKpOTCTBA.

OTkpbiBasi TEKyIIM cueT B OaHKE, BbI JOJKHBI OCO3HABATH, YTO CMOXKETE
CHUMATh JICHbI'H, HO HE MOJYYUTE HUKAKUX MTPOLIEHTOB.

51 npeBbICKII CBOM cueT B OaHKE U MOl Uek He ObLT OIIayueH.

['ocynapcTBO MOHMMXKAET MPOLEHTHYIO CTaBKY, YTOOBI MPOCTUMYIHUPOBATH
3aCTOMHYIO 9KOHOMUKY.

MexayHapoHbIN BaIIOTHBIA (DOH CITOCOOCTBOBAJ CTAOMIIM3allUUA KYpPCOB
MHOCTPaHHBIX BaJIIOT.
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3.5. Money and Monetary Policy

Task 1. Complete each sentences with a suitable preposition.

l.
2.

3.

Society enforces the use of fiat money ... making it legal tender.

Money serves ... a unit of account, ... a store of value, and ... a standard
of defended payment.

The unit ...account is the unit ... which prices are quoted and accounts
are kept.

... enough cash, the public must suffer forgone interest.

. The cash ... circulation and the reserves ... private banks together are

called the monetary base.
Increased supply of ... money may cause problems ... people whose in-
comes do not increase ... a rate consistent ... inflation.

. According ... the monetarists, financing the deficit drive ... the interest

rate and crowd ... a substantial amount ... investment spending.

. Discount rate is the rate ... which the central bank is ready to lend ...

commercial banks.
All values ... economic systems are measured ... terms ... money.
The Federal Reserve does not rely ... Congress ... funding.

Task 2. Complete the sentences using the verbs in the brackets.

1.

2.

*®

10.
1.

Is a company’s financial health ... good and its assets sufficient, it ...
capital. (be, raise)

If the market ... to buy the issue at a minimum price, the banker ... them
and ... the loss. (refuse, take, absorb)

. If profits ..., the owners of preferred stock ... dividends before those with

common stock. (be/limit, pay)
If money ... scarce, interest rates ... to rise because those seeking loans
will be competing for fund. (be, tend)

. If plenty of money ... available for loans, the rate ... to move download.

(be, tend)
If the debt-equity mix ... too out of balance, the firm ... bankrupt. (be, go)

. If he ... employees or creditors on time, he ... into bankruptcy.

(can/not/pay, be/force)

A man’s credit ... good if his assets ... to be considerable. (be, know)

If his assets ... in doubt, it ... difficult for him to obtain large sums of
credit. (be, be)

If too much money ... available, its value ... . (be, decrease)

If the Bank of England ... that the interest rates will have to rise then the
commercial banks ... also their interests rates. (recommend, raise)
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12. If borrowing ... more expensive, businessmen ... more reluctant to bor-

row and develop their business. (become, become)

Task 3. Choose the correct answer.

1.

The discount interest rate i1s known as:

a) exchange rate.

b) tax rate.

c) base rate.

d) money rate.

Flat money is supplemented by:

a) token money.

b) betting money.

c) 10U money.

d) mattress money.

The narrowest commonly used measure of money M1 consists of:
a) bills.

b) checking accounts.

c) coins.

d) all of the above are included.

The unit in which prices are quoted and accounts are kept is called:
a) the medium of exchanged.

b) the store of value.

c) the standard of deferred payment.

d) the unit of account.

The speculative demand for money is also called:

a) “betting money”.

b) “fiat money”.

c) “token money”.

d) “mattress money”.

The dominant school of economic thought before the Great Depression was:
a) Classical.

b) Keynesian.

c) Monetarist.

d) Recardian.

What is the primary instrument used to regulate monetary policy in the USA:
a) open market operations.

b) changes in reserve requirements.

c) changes in discount rate.

d) credit controls.
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Task 4. Based on the topic, conclude whether the following statements are
TRUE or FALSE:

1.

e

Commodity money is mainly paper currency issued by governments and
deposits in checking accounts that are accepted as a means of payments for
goods and services.

The narrowest commonly used measure of money M1 consists of currency
and current accounts.

. The transactions demand for money is the stock of money people hold to

pay unpredictable expenses.

Mainly paper currency issued by governments and deposits in checking ac-
counts that are accepted as a means of payments for goods and services is
token money.

People can exchange all goods and services for money.

A key assumption of Keynesian theory is that, given time to adjust, prices
and wages will decrease to ensure the economy operates at full employ-
ment.

Monetarists believe that the fiscal policy has a big effect on the economy
because of the crowding-out effect.

Task S. Give the English equivalents:

1) cderHas equHUIA;

2) eauHUIIAa OTCPOUYCHHOIO TUIATEXKA;

3) B3aHMMOBBITOJIHBIM OOMEH;

4) 3aKOHHOE CPEJICTBO IIATEXKA,;

5) cnpoc Ha JEeHBIU JJIsl COBEPIIEHUS CHIEIIOK;

6) cnpoc Ha ICHBIU JJIs1 HEPEIBUACHHBIX PACX0/I0B;
7) B3auMHBIE (HOHBI ICHE)KHOTO PHIHKA;

8) ¢guHaHCOBBIE aKTUBBI, TPUHOCSIIIUE JOXO/I;

9) 3¢ dexT BhITECHEHUS.

Task 5. Translate the sentences:

1.

ToBapsel U ycnyru npoJaroTcs 3a AeHbIU, a ICHbIU B CBOIO ouepeab oome-
HUBAIOTCS Ha APYTHE TOBAPhl U YCIYTH.
JlparoneHHble METaJUIbl BCEr/A CIIYKUJIU 3aI1aCOM LIEHHOCTEM.

. baHKHOTBI BBIITYCKAKOTCA MMPABHUTCIIBCTBOM U HCKOTOPBIMHU OaHKaMH U CYH-

TarOTCs 3aKOHHBIM IUIATEXKHBIM CPEACTBOM.
Ecnu yenoBek o6sajiaeT 3HAUUTEIbHBIMU aKTHUBAMHU, OH MOKET MOJIYYUTh
XOpOILLINN KPEauT.

. HOKYHaTeJIBHaH CIIOCOOHOCTH ACHCT 3aBUCUT OT CIIpOCa U IMPCIAJIOKCHHA.
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3.6. Fiscal Policy

Task 1. Think of the words that are similar in meaning for the following:

Increase, fall, gain, double, plummet, cut, deficit, influence, restrict, surplus.

Task 2. Insert prepositions where necessary:

1.

W

A I A

10.

Fiscal policy aims __ changing the level of government spending and
taxes.

If the demand __ goals increases, prices continue to rise.

According  Keynes a tax increase could reduce the demand and re-
lieve the pressure  prices.

The depression was a result of adrop  effective demand.

Surpluses are the exact opposite  the deficits.

Fiscal policy should move  a surplus in the government budget.
Workers who are laid _ automatically fall into a lower tax bracket.
The higher taxes take money ~~ their pockets.

The US has gone vary far  the past 50 years  expanding the role
of government in the economy.

Economic freedom is freedom to use the recourses in accordance

our own values.

Task 3. Translate from Russian to English.

1) pacmMpuTh COBOKYITHBIH CIIPOC;
2) MOBBICUTH BBITYCK MPOAYKITUH;
3) yBeIMYCHHE MPABUTEIbCTBEHHBIX PACX0JIOB;
4) cTEMYJ I SKOHOMHUYECKOTO POCTa;
5) yBenudeHHasl MOTPEOHOCTH B TOBapax M yCiIyrax;
6) MmajeHue MIaTeKEeCIIOCOOHOTO CIIpoca;
7) nedunut peaepasbHOro OOIKETA;
8) mOXOdBI OT HAJIOTOB;
9) caepxxuparoias GpuckaibHas MOJTUTUKA;
10) cTumynupyromias GuckaabHas MOJTHTHKA.

Task 4. Insert articles where necessary:

1.

W

In order to end  recession of 1980-81 the government tried to expand
aggregate demand.

After  nation’s economy reaches full capacity production cannot expand.
Depressions occur as  result of a drop in effective demand.

We have  balanced budget when government expenditures are equal
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AN

9.

10.

to tax revenue.

If people save the money  consumption remains low.

Health care is  public responsibility.

All recreational facilities are more needed by  underprivileged than by
_ affluent.

Another essential part of economic freedom is freedom to use  re-
sources we possess in accordance with our values.

You are not free to set up  bank without  permission from a gov-
ernment official.

The urgent need today is to eliminate  restrictions, not add to them.

Task S. Explain why...

l.
2.

3.
4.

Production cannot expand after a nation’s economy reaches full capacity.
In periods of depressions the government should increase its spending and
cut taxes.

There occur a federal budget deficit.

The role of the government in the economy should expand (be reduced).

Task 4. Give the definitions of:

fiscal policy;

the budget deficit;

the budget surplus;

the expansionary and contractionary fiscal policy.

25



IV. THE MICROECONOMY

4.1. Supply and Demand

Task 1. Insert articles if necessary.

1. ...

W

6.

surplus or ... shortage exists at any price where ... quantity demanded
and ... quantity supplied are not equal.

. change in ... quantity demanded is ... movement along ... stationary
demand curve caused by ... change in ... price.
As ... price rise or fall ... market moves towards ... equilibrium.
... Supply, ... quantity of ... product that ... suppliers will provide, is ...
seller’s side of ... market transaction.
... Demand is ... amount of ... goods that ... buyers are willing and able to
purchase.
... bad publicity has had ... adverse effect on our reputation.

Task 2. Open the brackets and put the verbs in the necessary tense forms.

1.

W

If you ... (to want) to know how any event or policy ... (to affect) the
economy, you must think first about how it ... (to affect) supply and de-
mand.

If you ... (to expect) the price of goods ... (to rise) in the future, you ... (to
put) some of your current production into storage.

Manufacturing output ... (to increase) has increased by 8% in two years.

At the equilibrium price everyone in the market ... (to be satisfied): buyers
... (to buy) all they ... (to want) to buy and seller ... (to sell) all they ... (to
want) to sell.

. Once the market ... (to reach) its equilibrium all buyers and sellers ... (to

be satisfied) and there ... (to be) no upward or downward pressure on the
price.

If the price of salt ... (to go) up 10% you ... (to pay) extra amount rather
than ... (to go) without salt.

What ... (to happen) to our sales if we ... (to increase) our advertising
costs by 5%?

Task 3. Identify the one underlined word or phrase marked A),B),C) or D)
that must be changed and correct the mistake.

1. Price A) continue; B) to fall; C) unless the market; D) reaches its equilib-

rium.

2. The bad publicity; B) has had; C) an adverse; D) affect on our reputation.
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3. Elasticity allows; B) to analyze supply and demand; C) with; D) greatest
precision.

4. When any of the A) nonprice; B) determinants of supply; C) changes, the
supply curve responds; D) in shifting.

5. Quantity A) supplied is; B) an amount of; C) a good that sellers; D) are
willing and able to sell.

6. The law of supply A) states that there is a; B) direct; C) relation between
the price and the quantity; D) supplied.

7. Elasticity is; B) a measure of; C) how many buyers and sellers; D) respond
to changes in market conditions.

Task 4. Translate into English.

A. Tlpu npouux paBHBIX; 00paTHO MPONOPIUOHATBHBI; PABHOBECHUE; 110~
TPeOUTENbCKUI PHIHOK; €KEeTHEBHBIN BBITYCK MPOAYKIIMH; 10X0; o0arae-
MBIl HAJIOTOM; HU3IIHMKA TOBAp; 1I€HA OYMIICHUS PHIHKA; IIPOLEHTHOE U3MEHE-
HUE LIEHBI; IEPEKPECTHAs 3JJaCTUYHOCTD CIIpOca.

B.

1. Bel gymaete, pocT MPOIEHTHOW CTaBKH TOBJIUSCT Ha YPOBEHb MOTpeOU-
TEJIbCKUX PacX0JI0B?

2. KoMIuieMeHTHI — 3TO Maphbl TOBAPOB, KOTOPBIC YACTO UCIIOIB3YIOTCS BMECTE.

3. JleiicTBus moKymaTeaed W MPOJIaBIOB €CTECTBEHHBIM 00pa30M MOATAIKHU-
BaIOT PHIHOK K PAaBHOBECHIO CIIPOCA U MPEJI0KECHHUS.

4. TlocTaBUIMKHU CHUIKAIOT IIEHBI B OTBET HA M30BITOK TOBapa.

5. OnHUM U3 BaKHEUIUX (HaKTOPOB, ONMPESISIONINX BEIUYMHY CIPOCa, SIB-
JIsieTCs [IeHa TOBapa WM YCIYTH.

27



4.2. Market Structure

Task 1. True or False:

1. Pure competition is characterized by that in the market the big number of
the firms which are releasing similar, but not identical products operates.

2. Easy entry and exit of firms from the market are a necessary condition of
the pure competition.

3. In conditions of the pure competition demand for production of branch
represents a horizontal line.

4. Monopolist receives economic profit only in the long-term period.

Demand curve from which the monopolist collides, is less elastic, than a

demand curve of competitive firm.

6. Increase of the prices for the goods at a monopolistic competition is the
reason of that manufacturers start, as against conditions of the pure compe-
tition, to receive economic profit.

e

Task 2. Answer the following questions.

1. The situation which is coming nearer to a pure competition, most likely,
will be characteristic for:
a.The market of grain. c.The market of teachers services.
b.The market of cars. d. The market of pencils.

2. An example of monopsony, limited oligopoly, is:
a. The market of drugs. c. slave trade (paGoTopross).
b. Business in which Tchitchikov d. Business "MMM".

in « Dead souls » was engaged.

3. The monopolistic competition arises in the markets of those goods, where
elasticity of demand:

a. It is low. c. It is high.
b. It is approximately equal 1. d. Can be any.

4. If monopoly in branch is replaced by a monopolistic competition, from it:
a. Sellers win. c. Win both sellers, and buyers.
b. Buyers win. d. Nobody wins.

5. What market, most likely, will be monopoly.
a. A gaz station in a countryside. c. The market of grain.
b. The market of roses. d. The seller of "Snickers".
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6. The market of red carnations will be...

a. Monopoly. c. A monopolistic competition.
b. The pure competition. d. Cartel.

7. The markets of the pure competition and a monopolistic competition are
similar that...
a. The homogeneous goods are released.
b. The price exceeds marginal costs.
c. There are no barriers to the entry of competitors in branch.
d. Elasticity of demand is lower, than in the market of pure monopoly.

Task 3. Chainwords “Two worms of Macroeconomics”.
First Chainword

1 15 | 17 28
19

11 |12 ] 14

The last letter of one word is the first letter of the second word. Some an-
swers consist of two words. A space between them is a coloured square.

1) The amount of the good that buyers are willing and able to buy.
2) Oligopoly and monopolistic competition have products.
3) There are four  of supply: prices, input prices, technology and expecta-
tions.
4)  good is a good for which, other things equal, an increase in income
leads to an increase in demand.
5) Monopolistic competition is often used in
6) Commodity, merchandise.
7) A short and easily memorized phrase used in advertising.
8) A small market segment.
9) A situation in which various forces are in balance.
10) A mechanism which brings together buyers and sellers.
11) Bargain, deal.
12) Superior good is also called a good.
13) The firm with the largest market share.
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14) A period during which an economy is working below its potential.

15) Oligopoly and monopolistic competition are characterized by substan-
tial competition.

16) Pure competition markets have easy entry and .

17) One of the most important determinants of demand.

18) The  of price elasticity of demand is defined as the percentage change
in quantity demanded, divided by the percentage change in price.

19) The quantity demanded is to the price.

20) Customer, buyer.

21) Pure competition markets haven’t got artificial

22) The division of a market into submarkets according to the needs or buying
habits of different groups of potential customers.

23) Some monopolies may be  , because they have the lowest possible
costs hi this market.

24) The of demand and supply says that the price of any good adjusts to
bring the supply and demand for that good into balance.

25) The opposite to "retailing".

26) The synonym of "to ensure".

27)  good is a good, that very responsive to price changes.

28) Monopolistic competition markets have nonprice , such as advertis-
ing, convenient location, ample parking space, courteous service, large se-
lection of merchandise.

Second Chainword:

1 14 21
16 | 17 | 18

7 10
8 23

6 [ o

11 15 19 22
2 9 12 | 13
5 20

1) dupmbl-niocnenoBatenu; 2) ocoOeHHBIA; 3) (HUPMBI-NIPETEHIEHTHI;
4) pplHOYHAsT A0S MPOJAX; S5) H3ACPKKH, pacxolpl; 6) MOCTaBUIUK;
7) B3aumooTHoIIeHue; 8) ueHa; 9) mpeswimath (crpoc); 10) «maHHBIE» B
eAMHCTBEHHOM uwmciie; 11) MmoHomonucTuueckuit; 12) TOBaphl-KOMILIIEMEHTHI;
13) Beiciuit  ToBap; 14) cHwkeHue; 15) omnpenenstomuii (pakTop);
16) rurantckas dupma; 17) ToBapsl; 18) meHa paBHoBecus; 19) u3nuiHUn
cipoc; 20) exeaHeBHBIM BBITYCK MPOAYKIUH; 21) noxon, obnaraemslii Hajo-
rom; 22) 6osbioi (crpoc); 23) ToBapbl-3aMEHUTEIIH.
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V. THE GLOBAL ECONOMY

5.1. International Trade

Task 1. Insert articles if necessary.

l.

....principle of ..... comparative advantage is.....central concept in.... in-
ternational trade

Nowadays .... WTO has more than 130 members.

In 1933.... North American Free Trade agreement reduced trade restric-

tions among ...... United States .....Canada and ...Mexico.

..... Embargo is ........strongest limit on trade.

Fair trade is practice of buying goods directly from ...producers in ..... de-
veloping countries.

Each exporting country has ..... incentive to subsidize exports even when

....Importing country levies.....import tariff.

Task 2. Insert prepositions.

1.
2.

3.

Now

Embargoes are the strongest limit .... trade.

There are various arguments ...restricting trade Modern tariff are imposed
....a different reason: to shut ...or add ...the price of certain imports.
Economic theory distinguishes ...... absolute advantage and comparative
advantage.

The effects ...free trade can be determined ...comparing the domestic price
..... the world price.

Economists and the general public often disagree .... free trade.

It took nearly 50 years to arrive... the final GATT agreement.

Then a country allows trade and becomes an importer ... a good, consum-
ers are better ..., and producers are worse... .

Task 3. Open the brackets, use the proper tense forms.

1.
2.
3.

Britain’s balance of payments deficit (to improve) slightly recently.
America’s trade deficit (grow) sharply in February.

The continuing strong performance by Scotland’s exporters, despite the
relatively high exchange rate, (to be) very good news.

At present, farmers (to give) a set quota of sheep to produce in return for a
subsidy under the common agricultural policy.

The WTO (to govern) trade in many products and raw materials, but the
world of finance (to be) largely outside of its scope.

Customs duty on cotton (to remove) now to ensure cheaper availability of
raw material.

31



Task 4. Identify the one underlined word or phrase marked A),B),C) or D)
that must be changed and correct the mistake.

1. Goods that A) bought and sold B) on the open market are advertised and
sold C) to anyone D) who wants to buy them.

2. A) According B) to the September estimates, exports C) raised D) by 18%.

3. In A) the UK visible imports B) have traditionally been C) great D) than
visible exports.

4. A) The two presidents want to replace B) the suspicions of the past C) with
new commercial relationship based D) on free trade.

5. The aim of A) the current round of talks B) is to promoting free trade and
C) to avert the threat D) of increasing protectionism.

Task S. Define the following statements as true or false.

1. The principle of comparative advantage is a central concept in international
trade.

2. Absolute advantage is the ability of a country to produce a good using

fewer resources than another country.

Most economists almost in all countries are against free trade.

There is no difference between visible and invisible imports and exports.

Quotas are the strongest limit of trade.

Belarus is a member of WTO which was set up in 1947.

AN

Task 6. Translate into English.

A. BBoauTh/HanaraTth OrpaHMY€HHUs, TAMOXKEHHBIN cCOOp, CPaBHUTEIBHOE
MPEUMYILECTBO, BUAUMBIN (HEBUIUMBIA HKCIOPT), UMIIOPT, CBOOOJHAS TOP-
rOBJIs, a0CONIOTHOE MPEUMYIIECTBO, MPEB30NTH KBOTY, BHEIIHUN PBIHOK, KO-
HOMUSI OT Maciutaba, nepeoBble TEXHOJIOTUH, IOPUIUYECKUN 3alpeT TOPTro-
BOH J€ATEIIbHOCTH, OTPAHUYCHMUS.

B.

1. Cnenyer 4eTKO MOHMMATh PA3HUILY MEXAY BUAUMBIM U HEBUIUMBIM JKC-
MOPTOM/HUMITOPTOM.

2. TocynapcTBO UCIONb3yeT 3MOapro/ Tapudsl, KBOThl U JApPYrue orpaHuye-
HUSL JJIS 3allUThl OT€YECTBEHHOTO MPOU3BOJIUTENSI OT MHOCTPAHHOM KOH-
KYypEHIIUH.

3. BOABIIMHCTBO 3KOHOMHUCTOB CUMTAIOT, YTO MEXKIyHApOAHAas TOPTOBJISA
JI0JI’KHA OCHOBBIBATHCSI HA MPUHIUIIE CPaBHUTEIBHOTO MPEUMYILECTBA U
CBOOOIHOM TOPTOBIIH.
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5.2. Global Market and Developing Nations

Task 1. Insert necessary prepositions.

Aol

Industrial nations account ... about 70% of world output.

Belarus economy may be considered as an economy ... transition

India is weighed ... ... international debts.

The economy of Four Tigers is concentrated ... light manufacturing
Developing nations range ... the poorest in the world ..those that built an
industrial base.

WB and IMF have held ... the Tigers as models... other developing na-
tions.

Task 2. Mark if the following is TRUE or FALSE.

1.

W

Industrialized nations also large growing urban population and serious dif-
ficulties with poverty in the cities.

South Korea may best be described as an economy in transition.

EU includes only countries of Europe.

The term sustainable growth refers to political growth based on renewable
resources and average environmental degradation.

. Newly industrialized nations (NICs) have a slowly growing base of pro-

ductive capital and rising incomes. Most of these nations have poor gov-
ernments and primitive banking and financial systems

Brazil is weighed down with international debt and must work hard to control inflation.
Developing nations have a rapidly growing base of productive capital and
rising incomes.

Task 3. Complete the following sentences, use the prompts below:

L.
2.

3.

Economists classify the world’s economies as..., ...and ... nations.

The term ... refers to economic growth based on renewable resources and
minimal environmental degradation.

An ... has a large base of productive capital, sophisticated banking systems and
financial markets, a variety of industries producing a broad range of products,
and vigorous and varied international trade.

. Newly industrialized nations (NICs) have a rapidly growing base of productive

capital and ... .

. A number of developing nations have large, growing urban populations and

serious difficulties with ... ,...and ....
These measures would ...economic crisis in this country.
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Task 4. Give definitions to the following terms.

1. Global Market.

2. Sustainable growth

3. Devaluation

4. Special Drawing Rights

Task 5. What do the following abbreviations mean? Give their Russian
Equivalents.

LDC, G-8, IN, NIC, IMF, SDC, WB, WTO, ICC, APEC, MNC, NGO, OECD.

Task 6. Translate from Russian into English.

Kpynneiiiue mMupobsle peittuHronble arentctsa Standard & Poor's u Fitch
Ratings omyOnukoBamu 0030p CHUTyalliM Ha pa3BUBAIOMIMXCS pbIHKax. [lo
MHEHHMIO aHAJUTUKOB areHTCTB, B CKOPOM BPEMEHM pa3BUBAIOIIMMCS CTpaHaM
IPO3UT CYIIECTBEHHOE CHIDKEHHE TEMIIOB POCTa SKOHOMHKH, €CIH TEKYIIHUe
rJ100aJIbHbIE YHEPreTUYEeCKUEe MPoOJIEMbl TIOBIMAIOT HA HACTPOEHUS] HHBECTOPOB.
VYcuneHre pucKoB CBA3aHO € TaKUM (DaKTOpOM, KaKk CTPEMHUTENBHBIN pOCT LIeH Ha
HEQTb.

B Cugnee — kpynHbele Oecriopsiakv. Tam OTKpbUIach MeEXKIyHapoHAs
KOH(epeHIUs MO MPEANPUHUMATENILCTBY W HMHBECTULMSM O] MAaTPOHAKEM
amepukanckoro muwnmapaepa Crua @opOca. Heckoilbko COTEH aKTUBUCTOB
AHTUBOCHHBIX JBWKEHHUM, 3aIIIUTHUKOB OKPYXAOIIeH CPebl U aHTUTI00aTHCTOBR
YCTPOMIIM MUTHHT Tiepe]] 31aHreM CUIHENCKON onephl.

I'moGameHbIi 3kcniopT B 2004 romy moctur otMeTkr $9068,6 mupmd., 4To Ha
21,2% Oombire, yem B 2003 romy. O6 stom roBoputrcsi B "benoit kaure" mo
TOProBJI€ U WHBECTUIMSIM, OOHApPOJOBAaHHOM cerojHsi SImoHCKOW opraHu3alueit
pasButus BHemrHed Toproeiau (JETRO). DtoT mokaszarens pacteT TpeTud ron
NOJpST, KaXIpld pa3 cTaHoBsch OecnpenieneHTHbIM. [lo moacueram JETRO,
CTOJIb OBICTPBHIX TEMIIOB HE HAOJIOAAIOCh HAa MPOTSHKEHUM MOCIEIHEN YeTBepTH
Beka. B umcie raBHBIX MPUYMH OpPraHM3alUs Ha3bIBA€T B MEPBYIO OYEpENb
npojospkaromuicss poct Topapoodbopota CIIIA u Kuras. Y mocnemHero tembl
POCTa KakK AKCIOpTa, TAK XU UMIIOPTa B MUHYBILEM TOAY MpeBbIckn 35%.
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VI. BUSINESS ADMINISTRATION

6.1. Company Structure

Task 1. Give the English equivalents.

HpeIIHpI/IHI/IMaTeJIB, CY6’BCKT XOSSII\/iCTBOBaHI/ISI, dKTHUBBI, IIaCCHUBBI, CINUHO-

JIMYHOC MMPCANIPUHUMATCIIBCTBO, COBCT JUPCKTOPOB.

Task 2. Match the words with their definitions.

limited company
partnership
a sole proprietor

gaining control of a company by buying its shares
joining together of two separate companies
company whose owners are not legally responsible with

their own personal holdings

liabilities
merger
takeover

relationship in which people work together as partners
person who owns his business and has no partners
sums of money which company owes

Task 3. Choose synonyms from the two columns and arrange them in pairs.

ownership
bankruptcy
goods
business
shares
chairman

entity

stock
chairperson
property
commodities
collapse

Task 4. Choose antonyms from the two columns and arrange them in pairs.

advantage
lender
employer
costs
failure
loss

Task 5. Choose the correct answer.

profit
success

gain
disadvantage
employee
borrower

Every company must watch its ... carefully if it is to avoid bankruptcy

a) director

b) sales manager
¢) chief accountant

d) cash flow
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e) production line
f) output

g) competitors

h) all the above



Task 6. Cross the odd word out.

a) business, partnership, company, enterprise, corporation, entrepreneurship,
start-up, sole proprietorship, firm, holding, entity;

b) work unit, task force, department, affiliation, company branch, sharehold-
ers® general assembly, division, special group;

c) revenue, earnings, expenditures, income, proceeds, profit;

d) worker, officer, employee, chief, operative, subordinate, executive.

Task 7. Choose the right variant.

a) work at a company; d) work with a company;
b) work for a company; e) all the above.
c) work in a company;

Task 8. Complete the sentences using the words given below.

a) A sole proprietorship offers the owner ... and ... in making decisions.
b) A sole proprietorship does not operate undera ... ... .

c) The ... of a company are appointed by the shareholders.

d) ... in business is like strategy in war.

e) Corporations can ... larger amounts of ... .

f) In limited companies, ownership is represented by ... of stock.

Words for reference: freedom and flexibility, raise, direction, shares, directors,
rigid charter.

Task 9. Say whether these sentences are true or false.

a) A sole proprietorship cannot be dissolved as easily as it can be started.

b) The chairman of the board is accountable to the shareholders’ general as-
sembly.

c) The directors of a company are appointed by the shareholders.

d) Instructions must be passed downward and information upward.

e) Strategic decisions are concerned with the disposition of resources.

f) Limited companies are taxed twice.
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6.2. Management

Task 1. Give the English equivalents.

Brnacth, momHOMOUYME; OTBETCTBEHHOCTh, OOS3aHHOCTBH; JIOJKHOCTHBIE 005-
3aHHOCTH; JIEJIETHPOBATh MOJHOMOYMS; 00paboTka MH(OpMAlLMU; HAIPABISATH
MOTOK MH(OPMAIIUK; IPUHATUE PEILIECHUH; BUIAETh CUTYAlUIO B IIEJIOM; JI€p’KaTh
CUTYAIIMIO [0JT KOHTPOJIEM; MPEANIPUHUMATE KOPPEKTUPYIOLIUE BO3CHCTBUSI.

Task 2. Match the words with their definitions.

1) management a) planning, organizing, leading, controlling

2) level of management b) economic, technological, political/legal,
social/cultural, and ecological factors

3) managerial functions c) customers, creditors, suppliers, competi-
tors, employees, shareholders

4) managerial skills d) technical, decision-making, conceptual,

analytical, communicative, computer
5) external remote environ- e)set of activities designed to meet an or-
ment ganization’s objectives
6) external task environment f) upper, middle, lower

Task 3. Choose synonyms from the two columns and arrange them in pairs.

1) start-up a) boss

2) operate a company b) produce

3) operative c) setup

4) chief d) subordinate
5) manufacture €) runa company
6) customer f) client

Task 4. Choose antonyms from the two columns and arrange them in pairs.
1) to start-up a company  a) managers

2) to use b) non-profit organization
3) operatives c) inefficiently

4) outputs d) to misuse

5) profit organization e) to dissolve a company
6) effectively f) inputs

Task 5. Choose the correct answer.

Top managers spend most of their time in:
a) controlling; b) leading; c¢) planning; d) organizing.
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Task 6. Cross the odd word out.

a) purpose, aim, end, means, goal, objective, target.

b) liabilities, debts, indebtedness, assets, responsibilities, obligations, due to,
promissory note.

d) goods, merchandise, services, products, commodities, items.

Task 7. Choose the right variant.

Hire people more for their:
a) expertise; b) intelligence; c) skills; d) attitudes.

Task 8. Complete the sentences using the words given below.

a) The ... justifies the means.

b) Operatives are people who work directly ona ... or ... .

c) A ... is a set of independent ... that processes ... into outputs.

d) An organization is a managed ... designed and operated to achieve a spe-
cific ... of objectives.

e) Managers are individuals who ... and ... new projects and ... decisions.

Words for reference: system, inputs, set, initiate, aim, task, oversee, parts,
make, job.

Task 9. Say whether these sentences are true or false.

a) Almost everything a manager does involves decision.

b) Efficiently means accomplishing the objectives with a minimum of re-
sources.

¢) Managers spend most of their time in planning and controlling.

d) To be a good manager, you have to like people.

e) Let people know, whom to please.

f) There is nothing rigid or absolute in management affairs, it is all a question
of proportion.
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6.3. Accounting

Task 1. Find a synonym:

A.
1) responsible
2) public
3) earnings
4) purchase
5) impact
6) acquire
7) expenses
8) supply
9) hire
10)evidence

B.

1) property

2) equal

3) condition

4) detail

5) accounting equation
6) monetary

7) process

8) express

Task 2. Join the halves.

a) buy

b) influence

C) costs

d) information
e) provide with
f) employ

g) in charge of
h) obtain

1) state-owned
j) income

a) assets equal liabilities plus owner's equity

b) provide information item by item

c¢) indicate by words or symbols

d) have the same value as

e) a series of transactions, changes, or functions that
bring about a particular result

f) the existing circumstance

g) anything owned by a person

h) pertaining to money.

The function of accounting is to provide certain types of... .

1. Before making a loan, potential lenders ...
2. Both profit and non-profit organizations ....
3. Public accountants are those who ....
4. Several accounting organizations have formulated ....
5. To do an audit, there must be informationina ... .
6. It is important to obtain a sufficient....
7. The final stage in the audit process is ... .
8. Very often the general public ....
9.
10.

nomic ....

Auditing is the process of recording, classifying and summarizing eco-
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a) serve the general public and collect professional fees for their work.

b) quality and volume of evidence to satisfy the audit objectives.

c¢) the audit report.

d) quantitative information that management can use to make decisions.

e) verifiable form and some standards by which the auditor can evaluate the
information.

f) determine the borrower's ability to meet scheduled payment.

g) confuses auditing with accounting.

h) codes of ethics that govern the of their members behaviour.

1) events in logical manner for the purpose of providing financial information
for decision-making.

j) deal with budgets, payrolls, rent payments, and the like.

Task 3. Translate:

1) amoptuzaius; 2) paccuuThiBaTh; 3) olleHuBaTh (3 ciosa); 4) cuera; 5) du-
HAHCOBBIN OTYET; 6) aKTUBBI; 7) MACCUBBI;, 8) cUeT MpUObLICH U YOBITKOB; 9) Oa-
naHcoBbIi otdet; 10) Oyxrantep; 11) rmaBHb Oyxranrep; 12) ¢unaHcoBOE MO-
noxenue; 13) 6e3HanexHbId q0aT; 14) ycnoBust kpeaura; 15) HeraTexecmnocoo-
HOCTb; 15) akkpenutus; 17) JOKyMEHTHI MPOTUB akienTa; 18) akMOHEpHBINA Ka-
nutait; 19) nonsa cooctBennocty; 20) ¢puHaHcoBbIN roa; 21) auBuaeHab; 22) Ha-
JIOTOBBIE JIBIOTHI, 23) ocsizaeMble (HEocs3aeMble) akTUBBI, 24) cuer-dakTypa;
25) npeaBapuTeNbHbIi cueT-hakTypa; 26) omnaTuTh cuera; 27) rjaBHas KHUTa;
28) cHUMAaTh JIEHBI'U CO cueTa; 29) hMHAHCOBBIC CICIKU.

Task 4. Match the words with their definitions.

1) the spending of money on advertising for example;
2) articles such as display cabinets which would be difficult to remove;
3) a payment to shareholders when a company has made a profit;
4) a person whose affairs are in the hands of an Official Receiver;
5) another name for ordinary shares;
6) the person who takes on the responsibility for checking the company's ac-
counts;
7) possessions which can be converted into cash;
8) a deduction made from the price of good when payment is made
promptly;
9) debts which will have to be paid either now or in the future;
10) a list of goods which will have to be sent to a customer indicating the
amount charged to their account;
11) the situation when the two sides of the accounts are equal,
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12)
13)
14)
15)
16)
17)
18)
19)
20)
21)
22)
23)
24)

25)

the books of accounts showing how much we owe and are owed,;

goods which are not wanted after all usually because they are faulty;
the proprietor's withdrawals of funds from the business;

the proprietor's stake in the business;

people who owe us money;

the fall in the value of an asset as a result of waste or usage;

a person to whom we owe money;

smth. which is valuable yet intangible;

the situation acing persons who cannot pay their creditors;

money received from sales;

the device which aims to control; expenditure;

the costs attached to maintaining fixed assets such as plant and machinery;
an asset such as a share certificate which can be offered as a safeguard
when a loan is received from a bank;

smth./ who buys smth. in the expectation that it will rise in value.

Words for reference: 1) bankruptcy, 2) assets, 3) investor, 4) creditor, 5) equi-
ties, 6) dividend, 7) budget, 8) invoice, 9) overheads, 10) returns, 11) capital,
12) depreciation, 13) bankrupt, 14) revenue, 15) debtors, 16) balance,
17) drawings, 18) expenditure, 19) auditor, 20) ledgers, 21) liabilities,
22) fixtures, 23) goodwill, 24) security, 25) discount.

Task 5. Choose the best alternative:

1.

2.

It is up to an accountant to ... the various financial statements.

a)interpret; b) intercept; c) invent; d) translate.
The bookkeeper keeps a record of every financial ... .
a) action; b) transaction; c) entry; d) transcription.

. It's essential to ... the invoice number in any correspondence

a) estimate; b)quote; c)say; d)tell.

The ... of the invoice goes to the customer, another copy goes to Sales,
and we keep the other one here in Accounts.

a) photocopy; b) issue; c) top copy; d) account.

We are ... with opur supplier over this invoice so don't pay it until you
hear from me.

a) argument; b) dispute; c) agreement; d) distress.
We send a ... to customers who haven't settled their accounts.
a) reminder; b)remainder; c)remembrance; d) memory.

If these figures could be ... into parts and labour it would be make them
easier to understand.
a) set up; b) broken down; c¢) rounded up; d) laid down.
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10.

1.

12.

13.

14.

15.

. This company has a weekly ... about 100,000.

a) pay; b) payroll; c) salary; d) wages.
Buying that new machinery has seriously ... our reserves.
a) depreciated; b) depleted; c) depressed; d) deprived.

By examining the balance ... and other documents we are able to find out
that the company was not doing as well as they claimed.

a) slip; b) ledger; c) account; d) sheet.
Surely we can set some off these expenses ... tax.

a) against; b) for; c) on; d) from.
The rent for the office is already 3 months ...!

a) overtime; b) in the red; ¢) in demand,; d) overdue.

Due to economic climate we have had to ... more bad debts this year than
ever before.

a) tell off; b) write off; ¢) find out; d) note down.
Do they have enough working ... to keep trading?

a) capital; b) expenses; c) accounts; d) currency.
Such items as buildings and machinery are known as ... assets.

a) current;  b) hidden; c) fixed; d) liquid.
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6.4. Marketing

Task 1. Give the English equivalents.

HeHCBOﬁ MApKCTHUHI', U3YUYCHHC BO3MOKHOCTEH PBbIHKA, CCTMCHTHUPOBAHNC
PBIHKA, HCHCBOﬁ PBIHOK, MApKCTUHI'OBAA IIpoTrpaMmMa, OCYIICCTBIIATS.

Task 2. Match the words with their definitions.

marketing
marketing program
market research
marketing strategy

brand
IT

estimates the demand for specific products or services,
describes the characteristics of probable customers, and
measures potential sales

a means by which a marketing goal is to be achieved

a set of market activities starting with a new-product
development and ending with product distribution

a plan that integrates the marketing mix to provide a
good or service to prospective customers

information technology

a trade mark ( painted or printed on boxes, tins, packets, etc.)

Task 3. Choose synonyms from the two columns and arrange them in pairs.

1) appraise
2) calculate
3) appreciate
4) research
5) supply

6) brand

a) evaluate
b) investigate
c¢) trade mark
d) estimate
e) delivery
f) compute

Task 4. Choose antonyms from the two columns and arrange them in pairs.

1) estimate
2) a means
3) manufacturer
4) increase
5) retailer

a) customer
b) decrease
C) measure
d) wholesaler
e) instrument

Task 5. Choose the correct answer.

One of the advantages of ... ... is the possibility of becoming the leader in
a specific market segment.

a) mass marketing;
b) target marketing;

c¢) consumer-goods marketing;
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d) test marketing.

Task 6. Cross the odd word out.

a) research, study, inquiry, exercise, investigation;
b) appraise, estimate, measure, evaluate, appreciate;
c¢) implement, put an end, put into life, carry out, carry into effect.

Task 7. Choose the right variant:

I really ... your efforts.
a) evaluate;
b) estimate;
c) appreciate;
d) appraise.

Task 8. Complete the sentences using the words given below.

a) Modern marketing is defined as directing the ... of goods from producers to ... .

b) Market ... involves aggregating prospective ... into groups that have
1) common ... and 2) will ... similarly to a marketing action.

c) A growing business needs information on the ... of their ... tools.

d) Managers need more ... information to take ... decisions.

e) Over 65% of the U.S. workforce is now employed in ... or ... information.

Words for reference: buyers, processing, up-to-date, marketing, producing, re-
spond, segmentation, timely, needs, effectiveness, customers, flow.

Task 9. Say whether these sentences are true or false.

a) Marketing is not expensive.

b) Marketing research studies almost every aspect of the seller-buyer relation-
ship.

c) The core promise could be a unique feature of the product.

d) To manage a business well is to manage its future; and to manage the fu-
ture is to manage information.

e) Running out of information is not a problem, but drowning in it is.
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6.5. Advertising

Task 1. Mark if the following statements are True or False.

1.

Sl

A e A

10.

Ta

Aol

Ta
1.

2
3.
4
5.

6.

It is 1llegal to make untrue statements about goods.

A statement of the objectives of the advertising campaign is known as a brief.
Advertising creates an extra supply.

An agreed budget is an overall advertising strategy concerning the mes-
sage to be communicated to the target customers.

When a popular personality is used in the advertisement it is an endorsement.

The mass media used in advertising include radio, mail and television.

A sponsor may be anyone who has money.

Advertising is generally accepted as a short-run investment.

Advertising should be legal, honest and true being to protect the con-
sumer from being deceived and misled by ads. .

The British Code of Advertising Practice exists to protect the buyers from
being deceived by ads.

sk 2. Complete the following sentences.

The main media types are...

Sponsor may be ...

The client company generally gives the advertising agency ...

The advertising agency planners have to decide ...

Advertising people talk about frequency or OTS (...) and threshold effect —
the point...

sk 3. Insert necessary prepositions.
No providers of goods or services rely only ... word-of-mouth advertising.

. Descriptive advertising is used by small traders selling ... the local paper.

It is 1llegal ...advertisers to make untrue statements ... their goods.

. The British Code of Advertising Practice exists to protect the consumer ...

being deceived and misinformed ..advertisements.

Advertising which invisibly registers information ... the viewer’s subcon-
scious is called subliminal advertising.

Everyone is influences ...the adverts ...a certain extent.

Task 4. Give definitions to the following concepts.

Word-of-mouth advertising, descriptive advertising, classified advertising,
prestige advertising, brief, target market, threshold effect, and comparative-
parity method.
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Task 5. Translate the sentences paying attention to the verbals in different
functions.

1. Advertising is the business of drawing public attention to goods and
services, performed through a variety of media.

2. Pioneering the concept of the music video, MTV ushered in a new type of
advertising: the consumer tunes in for the advertisement, rather than it being
a byproduct or afterthought.

3. Entire corporations operated solely on advertising revenue, offering
everything from coupons to free Internet access.

4. Advertising, in its non-commercial guise, is a powerful educational tool
capable of reaching and motivating large audiences.

Task 6. To reinforce your vocabulary translate the following:

A. Heszamenumass (yHKOMs, ABUTatelb MPOIBETAHUS, COTJIACOBAHHBIN
OrO/KET, peKamMa Ha CTeHJax, PEeKJIaMHpPOBAaHUE TOCTOMHCTB OPTaHU3AIINM;
peKiaMa, JACHCTBYIOIIAasi Ha TIOJCO3HAHME; PeKIaMa, BBOAAIIAS B 3a0IyxKe-
HUE.

B. CopeiicTBys peanu3aiyy ToBapa, YIpaBlisis CIPOCOM, peKiiama pacipo-
CTpaHSETCs 10 Pa3HBIM KaHajaM: B IPecce, Ha TCIICBHICHUH, Ha PaJHo, B KH-
HO Ha TpaHcropTe (Ha 6opTax aBTOOycax, TpPOLIeHOyCcOB, TpaMBaeB), Ha MecC-
Tax MpojaX ToBapa (BUTPUHBI Mara3wHOB, BEIBECKH B TOPTOBBIX 3aJiax, yra-
koBka). CyIecTByeT HapyKHas pekiama (IIUTHI HA yJIWIAX, IJIakaTax B MET-
po, «Oeryiasi CTpoKa») U CyBeHUpHasl (KaJieHJ1apu, OJOKHOTHI, 3HAYKH, CyM-
KH, aBTOPYYKH H T.1.). Hakoner, ¢upma MoXeT CHaOJHWTHh MOTEHIIUATbHBIX
MOKyTaTeNIel COOCTBEHHBIMU TMEYaTHBIMH PEKIIAMHBIMHA M3IaHUSAMH, TAaKUMH,
KaK TMPOCTIEKT, OYKIIEeT, KaTajor, Iiakart, JUCTOBKa. Henp3s He cka3aTh U O Ta-
KOM KaHajie PaclpOCTPAHCHHs OOpAIICHUH, KaK MpsMas IIOYTOBas PacChIKa:
CO3/1aB KaKyr-J1u00 HOBHUHY, ¢upMa cooOmaeT o Hel B MH(OPMAIMOHHBIX
MUCbMax, KOTOPBIE PacChlUIaeT, CKa)XeM, B JBECTH aJPECOB — MOTCHITHAIBHBIM
ONTOBBIM TIOKyMaresaM (auwiepam). Eciu nBaauate u3 Hux (10%) OTKIMKHYT-
Csl Ha TIPEJIJIOKEHNE KYITUTh TOBAp, TO 3TO MOXKHO CYUTATh ycrexoM. JlocTas-
Ka TOJIOOHBIX MHCEM U MOTCHITMAIBHBIM PO3HUYHBIM MOKYMATENIIM B UX ITOY-
TOBBIE SIIIUKH - 3TO TOXKE «TUPEKT-MEUI». Y KaXJI0ro KaHajla pacIpocTpaHe-
HUS PEKJIaMbl €CTh CBOU JJOCTOMHCTBA.
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ASSESSMENT TESTS

PROFESSION OF AN ECONOMIST

A: Questions 1-14 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (4), (B), (C), and (D). Choose the one
word or phrase that best complete the sentence.

l.

One of the most difficult decisions is choosing what to do fora ... .
(A) salary;

(B) living;

(C) employee;

(D) work.

. She has always wanted to follow a definite ...

(A) company;
(B) training;
(C) business;
(D) career.

. She likes the company because it trains its ... .

(A) employers;

(B) crew;

(C) staff;

(D) persons.

Working for IBM as a manager he gained useful ... .
(A) experiences;

(B) experienced;

(C) experience;

(D) experiencing.

. She is so ... on getting to the top of her profession and she never lets any-

thing get in her way.

(A) willing;

(B) desperate;

(C) eager;

(D) intent.

He proved to be distinctly ... to working in a position of responsibility
(A) incompatible;

(B) inapt;

(C) unfit;

(D) unsuited.
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10.

1.

12.

13.

. They started the business in ... of making a lot of money quickly, but

things didn’t work out that day.

(A) expectation;

(B) belief;

(C) certainty;

(D) likelihood.

I’d like to start my own business, but I’'m not sure how to ... about it.
(A) come;

(B) bring;

©) go;

(D) see.

He has been with the company for 30 years , but the management has
now decided to ... with his services.

(A) discard;

(B) dispense;

(C) disuse;

(D) dismiss.

Eventually he ... up the courage to ask for a pay rise.

(A) plucked;

(B) grabbed;

(C) grasped;

(D) snatched.

She took the course with ... to improving her employment prospects.
(A) regard;

(B) view;

(C) consideration;

(D) relation.

Despite having a low income, she manages to ... .
(A) getby;
(B) keep up;
(C) live on;
(D) stand for.
She was on her ... throughout the interview because she didn’t want to
say anything stupid.
(A) defense;
(B) lookout;
(C) caution;
(D) guard.

48



14. What was is that ... you to change career so suddenly?
(A) moved;
(B) originated;
(C) resulted;
(D) drew.

B. Read the following passage. It is followed by several questions about it.
For questions 15-21 you are to choose the one best answer, (A), (B), (C),
or (D), to each question.

Until recently, most American entrepreneurs were men. Discrimination
against women in business, the demands of caring for families, and lack of
business training had kept the number of women entrepreneurs small. Now,
however, businesses owned by women account for more than $40 billion in
annual revenues, and this figure is likely to continue rising throughout the
1980s. As Carolyn Doppelt Grey , an official of the Small Business Admini-
stration, has noted,” The1970s was the decade of women entering manage-
ment, and the 1980s has turned out to be the decade of the women entrepre-
neur’.

What are some of the factors behind that trend? For one thing, as more women
earn advanced degrees in business and enter the corporate world, they are finding
obstacles. Women are still excluded from most executive suites. Charlotte Taylor,
a management consultant, had noted, ”In 1970s women believed if they got an
MBA and worked hard, they could become chairman of the board. Now they’ve
found out that isn’t going to happen, so they go out on their own.”

In the past, most women entrepreneurs worked in “women’s” fields — cosmet-
ics and clothing, for example. But this is changing. Consider ASK Computer
Systems, a $22-million-a-year computer software business. It was founded in
1973 by Sandra Kurtzig, who was then a housewife with degrees in math and en-
gineering. When Kurtzig founded the business, her first product was software,
and her office was a bedroom at home, with a shoebox under the bed to hold the
company’s cash. After she succeeded with the newspaper software system, she
hired several bright computer science graduates to develop additional programs
When these were marketed and sold, ASK began to grow. It now has 200 em-
ployees, and Sandra Kurtzig owns $66.9 million of stock.

Of course, many women who start their own businesses fail, just as men of-
ten do. They still face hurdles in the business world, especially problems in
raising money; the banking and finance world is still dominated by men, and
old attitudes die hard. Most businesses owned by women are still quite small.

But the situation is changing; there are likely to be many more Sandra
Kurtzigs in the years ahead.
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15.

16.

17.

18.

19.

20.

21.

What is the main idea of this passage?

(A) Women today are better educated than in the past, making them
more attractive to the Business world.

(B) The computer is especially lucrative for women today.

(C) Women are better at small businesses than men are.

(D) Women today are opening more businesses of their own.

All of the following was mentioned in the passage as determines to

women in the business world EXCEPT...

(A) women were required to stay at home with their families.

(B) women lacked ability to work in business.

(C) women faced discrimination in business.

(D) women were not trained in business.

According to the passage, Charlotte Taylor believes that women in the
1970s...

(A) were unrealistic about their opportunities in business management.
(B) were still more interested in education than business opportunities.
(C) had fewer obstacles in business than they do today.

(D) were unable to work hard enough to succeed in business.

The author mentions the “shoebox under the bed” in the third paragraph

in order to ...

(A) show the frugality of women in business.

(B) show the resourcefulness of Sandra Kurtzig.

(C) point out that initially the financial resources of Sandra Kurtzig’s
business were limited.

(D) suggest that the company needed to expand.

The word hurdles in the last but one paragraph can be best replaced by...
(A) fences;

(B) obstacles;

(C) questions;

(D) small groups.

It can be inferred from the passage that the author believes that business
operated by women are small because ...

(A) women prefer small, intimate setting.

(B) women can’t deal with money.

(C) women are not able to borrow money easily.

(D) many women fail at large businesses.

The author’s attitude about the future of women in business is...

(A) skeptical,

(B) optimistic;
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(C) frustrated;
(D) negative.

Questions 22-25 refer to the following advertisement:

Outstanding opportunities with local real estate corporation. Requires
strong background in real estate, financing, closing. Some legal training help-
ful. Prefer candidate with M.A. and two or more years of successful real estate
experience. Broker’s license required. Salary range $16,000-23,000 commen-
surate with education and experience. Begin immediately. Interviews will be
conducted Tuesdays and Thursdays, June 10 and 12. Call for an appointment
243-1153, or send a letter of application and resume to:

Personnel Department

Executive Real Estate Corporation

500 Capital Avenue

Lawrence, Kansas 67884

22. Which of the following is NOT a requirement for the job advertised?
(A) At least two years’ experience.
(B) An M.A.
(C) A broker’s license.
(D) Extensive legal training.

23. The salary range indicates that...
(A) everyone earns a beginning salary of $16,000.
(B) the salary depends upon the amount of education and work experi-
ence that the applicant has.
(C) some applicants would earn less than $16,000.
(D) candidates with an M.A. would earn $23,000.

24. What should an interested candidate submit with his or her application?
(A) A current address and telephone number.
(B) A signed contract.
(C) A summery of work experience.
(D) A request for employment.
25. This passage would most probably be found in...
(A) the classified section of a newspaper.
(B) a college catalog.
(C) a textbook.
(D) a dictionary.
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A.

10.

1.

12.

13.

14.

ECONOMICS

Directions. In questions 1-17 each sentence has four underlined words or
phrases. The four underlined parts of the sentence are marked (4), (B), (C)
and (D). Identify the one underlined word or phrase that must be changed
in order for the sentence to be correct.

. (A) Economics is (B) as old like the human race: it is probably (C) the

first art which (D) man acquired.

The first major book (A) about economics “An Inquiry (B) into the Na-

ture and Causes of the Wealth of Nations” (C) was published with great

success (D) in 1776.

(A) After the great American economist Paul, (B) every economic society

(C) has to answer three (D) fundamental questions, What, How, and For

whom.

(A) We could define economics (B) as the human science which studies

the relationship (C) among scarce resources and the various uses

(D) which compete for these resources.

(A) Small droppings in (B) business activity (C) are called recessions,

(D) while substantial declines are called depressions.

(A) In general, the faster (B) a country’s economic growth, the faster

(C) rising in (D) living standards.

. (A) A business becomes profitable when (B) it makes more money
(C) than the sum (D) of their expenses.

. The government (A) is making (B) every effort (C) to avert (D) an eco-

NOmic crises.

(A) The focus of (B) economics (C) is (D) the production and distributing

of goods and services.

Economics Today (A) is (B) interesting, informative, and (C) it is easy

(D) to read.

(A) Despite of growing industrial activity, the majority (B) of the Ameri-

can people continued to (C) make their living from farming (D) until the

beginning of the twentieth century.

Scarcity results from (A) disbalance (B) between (C) unlimited wants and

(D) relatively limited resources.

Economists (A) have tried to discourage the use of the phrase “underde-

veloped nation” and (B) encouraging the more accurate phrase “develop-

ing nation” (C) in order to suggest (D) an ongoing process.

(A) An unexpected raise in the cost of living (B) as well as a decline in

employment opportunities (C) has resulted in the rapid creation (D) by
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Congress of new government program for the unemployed.

15. Although we are (A) concerned with the problem of energy sources, we
(B) must not fail (C) recognizing the need (D) for environmental protec-
tion.

16. (A) But for the crisis he (B) hadn’t lost his job and (C) would be well off

(D) at present.

17. In 1848, at the first women’s rights convention, delegates (A) drew up a
declaration demanding equality with males (B) in education (C) and eco-
nomic opportunities (D) and in vote.

B. Read the following passage. It is followed by several questions about it.
For questions 18—23 you are to choose the one best answer (A), (B), (C), or
(D), to each question.

The relationship of economics to history is rather different from that of the
other social sciences. Curious as it may sound, this relationship in many respects
comes close to that between history and literature. Economics, after all, is the sci-
ence (in the broad meaning of the term) of something which men actually do. Even
if the science did not exist, men would still make economic decisions, economic
predictions, and participate in the various forms of economic organization which,
in part, it is the economist’s function to describe. Similarly, the disciplined study of
literature is concerned with something which men would also do anyway even if
the discipline study did not exist: compose poems, act out dramas, write novels,
and read them. Political science, or the discipline of politics, has, it is true, many
similarities to economics, particularly when it is concerned with generalization
about political structures.

18.What does the passage mainly discuss?
(A) The similarity between economics and politics.
(B) History’s and literature curious relationship.
(C) A definition of economics.
(D) Economics relationship with other sciences.
19.History is related to economics...
(A) in many different kinds of ways.
(B) in a different way from its relationship to literature.
(C) 1n the same way as it is related to literature.
(D) just as political science is related to economics.
20.The social science mentioned in the passage is:
(A) economics.
(B) history.
(C) literature.
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(D) politics.
21.Economics looks at:
(A) all kinds of decision making.
(B) people’s real life behavior.
(C) broad aspects of organization over time.
(D) the description of historical events.

22.Studying literature involves:
(A) much hard work.
(B) putting poems and plays to music.
(C) looking at some normal activities of man.
(D) reading and writing novels.
23.The word “that” in line 1 refers to:
(A) history.
(B) economics.
(C) the relationship.
(D) the other social sciences.

Although the Wealth of Nations by Adam Smith appeared in 1776, it in-
cludes many of the ideas that economists still consider the foundation of pri-
vate enterprise. The ideas put forth by Smith compose the basis of the phi-
losophies of the school of thought called classical economics.

According to Smith’s ideas, free competition and free trade are vital in
fostering the growth of an economy. The role of government in the economy
is to ensure the ability of companies to compete freely.

Smith, who was himself a Scot, lived during the period of the Revolu-
tions in America and in France. During this epoch, the predominant political
thought was a strong belief in freedom and independence in government.
Smith’s economic ideas of free trade and competition are right in line with
these political ideas.

24.A “school” in line 3 is:
(A) a common belief.
(B) acollege.
(C) auniversity.
(D) an educational institution.

25.Which of the following is closest in meaning to the word “free” in line 4?
(A) Cheap.
(B) No cost.
(C) Uncontrolled.
(D) Democratic.
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26.The word “line” in line 9 could best be replaced by...
(A) straightness.
(B) directness.

(C) file.
(D) agreement.
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ECONOMIC SYSTEMS

A. In questions 1-14 each sentence has an underlined word or phrase. Below
each sentence are four other words or phrases, marked (4), (B), (C), and (D).
You are to choose the one word or phrase that best keeps the meaning of the
original sentence if it is substituted for the underlined word or phrase.

1. Quite a few transactions take place on the basis of tradition.
(A) Several.
(B) Many.
(C) Little.
(D) Much.
2. The cost of living in the US has risen at a rate of 6 percent per year dur-
ing last ten year period.
(A) Tenth.
(B) Century.
(C) Decade.
(D) Quarter.
3. J.P. Morgan had a reputation for being a prudent businessman.
(A) Clever.
(B) Wealthy.
(C) Careful.
(D) Dishonest.

4. Marxist theory holds that most aspects of an institution are shaped by
economic factors.
(A) Elevated.
(B) Defined.
(C) Reformed.
(D) Detailed.

5. At the culmination of the Depression in 1933, millions of Americans
were unemployed.
(A) Resolution.
(B) Peak.
(C) Compulsion.
(D) Commencement.

6. Collective bargaining is a process by which management and unions
work out their differences.
(A) Raise.
(B) Contradict.
(C) Resolve.
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9.

10.

1.

12.

13.

(D) Ignore.

. Economist John Calbrait argued for more public goods in his book “The

Affluent Society”.
(A) Wealthy.

(B) Greedy.

(C) Outspoken.
(D) Impoverished.

. Some economists are proposing that the US institute a consumption tax

rather than an income tax.
(A) In addition to.

(B) Inplace of.

(C) At the expense of.
(D) Alongside.

A cut in the budget puts 10 percent of the state employees’ jobs in jeop-
ardy.

(A) Range.

(B) Review.

(C) Perspective.

(D) Danger.

Soon after the financial success of the Model T, Henry Ford announced
that from then on his company would share its profits with its employees.
(A) Divide.

(B) Save.

(C) Invest.

(D) Spend.

Few countries today enjoy prosperous economies.

(A) Static.

(B) Stable.

(C) Poor.

(D) Flourishing.

Keynes argued that to avoid an economic depression the government
spending and lower interest rate.

(A) is;

(B) higher;

(C) increase;

(D) should increase.

Out of John Kenneth Galbraith’s The Affluent Society for an
increase in public goods, potentially at the expense of private goods.
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(A) came the argument;

(B) his argument;

(C) argued;

(D) the economist is arguing.

14. Some economist now suggest that home equity loans are merely a new
trap to push consumers beyond
(A) they can afford;
(B) they can afford it;
(C) what is affordable;
(D) able to afford.

B. Read the following passage. It is followed by several questions about it.
For questions 15-20 you are to choose the one best answer, (A), (B), (C),
or (D), to each question.

The United States had just finished with the turmoil of World War 1 when the
1920’s were upon it. This decade, one of the most colorful in U.S. history, was
commonly referred to as the Roaring Twenties. At various times it was nicknamed
the Jazz Age and the Dollar Decade. Whatever the label, this era brought economic
growth, rising wealth, and lasting social and political changes.

During the 1920’s, an expanding economy resulted in exploding business
profits and an increased standard of living for most Americans. In less than ten
years, the national income jumped by over 40%.Much of this increase can be
attributed to the use of labor-saving machinery that allowed workers to pro-
duce goods more quickly and less expensively.

Americans were encouraged their new-found wealth on consumer purchases.
Even low-income families could afford to buy an automobile, and the use of credit
allowed millions of American families to acquire luxury items such as refrigerators
and washing machines. Promises of great wealth convinced many Americans to
invest in the stock market, also on borrowed money.

Ironically, it was obsession with profits and consumption that eventually
brought an end to the prosperity of Dollar Decade. Also, politicians and the
American public viewed business as the foundation of society leading to the
philosophy that the economy could regulate itself best without government
controls. By 1929 the U.S. economy was heading for trouble, and the illusion
of prosperity was broken by the catastrophic stock market crash on October 29
of that year.

15. What is the main topic of this passage?
(A) A colorful era in U.S. history.
(B) The turmoil of World War 1.
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16.

17.

18.

19.

20.

(C) The nicknames of various decades.

(D) Lasting social and political changes.

According to the passage, the U.S. national income rose dramatically in
the 1920’s primarily due to...

(A) a stable economy;

(B) a declined standard of living;

(C) the use of labor-and cost-saving equipment;

(D) a redistribution of wealth.

According to the passage, how did many Americans pay for their luxury
purchases?

(A) With disposable income.

(B) With stock market profits.

(C) With money from their savings accounts.

(D) With money borrowed on credit.

It can be inferred that the 1920°s were nicknamed the Dollar Decade be-
cause of ...

(A) a falling standard of living.

(B) preoccupation with making money and consuming.

(C) the introduction of washing machines and refrigerators.

(D) restricted access to credit.

In the last paragraph, the author uses the expression “the illusion of pros-
perity” to suggest that...

(A) the economy was in worse shape that anyone thought.

(B) investment in the stock market was a smart move.

(C) the economy was capable of regulating itself.

(D) business was the basis of American society.

It can be inferred that the stock market crash of 1929 was caused largely by ...
(A) an overly efficient business philosophy.

(B) the failure of Americans to invest in the market.

(C) lack of government control over credit.

(D) disaffection for the great and overindulgence of the decade.
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SUPPLY AND DEMAND

A: Questions 1-10 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (4), (B), (C), and (D). Choose the one
word or phrase that best completes the sentence.

1.

The greater the demand, ... the price.
(A) higher;

(B) high;

(C) the higher;

(D) the high.

... in the world export diamonds.

(A) only little nations;

(B) only few nation;

(C) only a little nations;

(D) only a few nations.

... the law of demand consumers will ordinarily buy larger quantities of
units of a product at a low price than they will at a higher price.

(A) 1in accordance of;

(B) 1n accordance to;

(C) according with;

(D) according to.

The price ... which goods are sold is determined by the interaction of
both demand and supply.

(A) at;

(B) with;

(C) for;

(D) in.

. A demand curve shows how many products will be ... at different prices.

(A) demand;

(B) demanding;

(C) demanded;

(D) being demanded.

The law of demand and supply was first worked ... by D. Lardner, an
Irish professor of philosophy.

(A) through;

(B) out;

(C) back;

(D) off.
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7. Whole-grain food products ... in most large supermarkets across the U.S.
and Canada.
(A) now can purchase;
(B) can now be purchased;
(C) now to purchase;
(D) the purchase of which.

8. Prices for bikes can run ... $250.
(A) as high as;
(B) as high to;
(C) so high to;
(D) so high as.

9. To generate income, magazine publishers must decide whether to in-
crease the subscription price or ... .
(A) to sell advertising;
(B) if they should sell advertising;
(C) selling advertising;
(D) sold advertising.

10. The level of aggregate demand is ... in the economic system.

(A) the most important determined factor;
(B) the most important determining factor;
(C) the more important determined factor;
(D) the more important determining factor.

B. Read the following passages. They are followed by several questions about
them. For questions 11-13 you are to choose the one best answer, (A), (B),
(C), or (D), to each question.

Recent technological advances in manned and unmanned undersea vehicles
have overcome some of the limitations of divers and diving equipment. Without
a vehicle, divers often became sluggish and their mental concentration became
limited. Because of undersea pressure which affected their speech organs, com-
munication among divers was difficult or impossible. But today, most oceanog-
raphers make observations by means of instruments which are lowered into the
ocean or from samples taken from the water. Direct observations of the ocean
floor are made not only by divers but also by deep-diving submarines. Some of
these submarines can dive to depth of more than seven miles and cruise at depth
of fifteen thousand feet. Radio-equipment buoys can be operated by remote con-
trol in order to transmit information back to land-based laboratories, including
data about water temperature, currents and weather.
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11. Divers have had problems in communicating underwater because ...
(A) the pressure affected their speech organs.
(B) the vehicles they used have not been perfected.
(C) they did not pronounce clearly.
(D) the water destroyed their speech organs.
12. This passage suggests that the successful exploration of the ocean de-
pends upon ...
(A) vehicles as well as divers.
(B) radios that divers use to communicate.
(C) controlling currents and the weather.
(D) the limitations of diving equipment.
13. Undersea vehicles ...
(A) are too small for a man to fit inside.
(B) are very slow to respond.
(C) have the same limitations that divers have.
(D) make direct observations of the ocean floor.
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WORK AND UNEMPLOYMENT

A. Directions: In questions 1-17 each sentence has four underlined words or

10.

1.

12.

13.

14.

phrases. The four Underlined parts of the sentence are marked (A), (B),
(C), and (D). ldentify the one underlined word or phrase that must be
changed in order for the sentence to be correct.

1.

An American college (A) typically offers (B) a blend of (C) naturally and
social sciences and (D) humanistic studies.

. (A) The family-sized farm is no longer (B) economically (C) competitive

(D) like it was in the 19" century.

A) Despite of (B) growing industrial activity, the majority of the Ameri-
can people (C) continued to make their living (D) from farming until the
beginning of the 20" century.

Public Opinion Magazine reported that 57 percent of Americans (A)
strongly (B)believe that mothers with young children (C) should not work
outside of the home unless (D) their families badly needed the extra in-
come.

. A large percentage of the federal employees at the Denver government

center (A) are participating in an experimental (B) four-day (C) work
week aimed at curbing gasoline consumption and pollution two of (D) the
most urgent problems facing cities today.

The insurance program (A) used to include not only employees (B) but
(C) their (D) families.

Since (A) there was not any clarity the (B) farm workers refused (C) to
sign the new contract and voted to go on strike (D) instead.

. (A) Bored of his job, (B) he made an appointment (C) to see an advisor

(D) at the counseling center.

The Wagner act (A) guarantees (B) workers in the U.S. (C) the right (D)
to organizing labour unions.

Marry Harris Jones, (A) known as “Mother Jones”, was a (B) prominence
figure in the (C) labor movement at (D) the turn of the century.

The work performed (A) by these officers (B) are not (C) worth our pay-
ing (D) them any longer.

He (A) has been hoped for a raise for (B) the last four months, but his
boss is reluctant (C) to give him (D) one.

His job is quite (A) important to the total function of the firm (B) because
he is responsible (C) for maintain the records of sales and costs for (D) all
the departments.

(A) Fewest than half the staff (B) joined the new (C) optional dental (D)
insurance program.
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15. The department chairman asked his staff to help with the registration
(called on/counted on) .

16. Kevin quit his career of an engineer because he found it too difficult
(checked out of/dropped out of) .

17. (A) Before she moved here, Arlene had (B) been (C)at the head of the or-
ganization (D) since four years.

18. Angil’s bilingual ability and previous experience (A) were the quali-
ties(B) _what (C) helped her get the job over all (D) the other candidates.

B. Questions 19-28 are incomplete sentences. Beneath each sentence you will
see four words or phrases, marked (4), (B), (C), and (D). Choose the one
word or phrase that best completes the sentence.

19. Manufactures often sacrifice quality ...
(A) for a larger profit margin;
(B) in place of to earn more money;
(C) to gain more quantities of money;
(D) and instead earn a bigger amount of money.
20. Nancy hasn’t begun working on her Ph. D. ... working on her master’s.
(A) still because she is yet;
(B) yet as a result she is still;
(C) yet because she is still;
(D) still while she is already.
21. Last year Matt earned ... his brother, who has a better position.
(A) twice as much as;
(B) twice as many than;
(C) twice as many as;
(D) twice an more as.
22. Of'the two new teachers, one is experienced and ...
(A) the others are not;
(B) another is inexperienced;
(C) the other is not;
(D) other lacks experience.
23. The doctor told his receptionist that he would return ...
(A) as early as it would be possible;
(B) at the earliest that it could be possible;
(C) as soon as possible;
(D) at the nearest early possibility.
24. Jane charged her major from French to business, ...
(A) with hopes to be able easier to locate employment;
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(B) hoping she can easier get a job;

(C) with the hope for being able to find better a job;

(D) hoping to find a job more easily.
25. The doctor insisted that his patient ...

(A) that he not work too hard for three months

(B) take it easy for three months

(C) taking it easy inside of three months

(D) to take some vacations for three months
26. The more she worked, ...

(A) the less she achieved;

(B) she achieved not enough;

(C) she did not achieve enough;

(D) she was achieving less.

27. When Henry arrived home after a hard day at work, ...
(A) his wife was sleeping;
(B) his wife slept;
(C) his wife has slept;
(D) his wife has been sleeping.
28. He ... looked forward to the new venture.
(A) eagerly;
(B) with great eagerness;
(C) eagernessly;
(D) 1n a state of increasing eagerness.

C. Read the following passage. They are followed by several questions about
them. For questions 29-36 you are to choose the one best answer, (A), (B),
(C), or (D), to each question.

The Works Progress Administration (WPA) was formed in 1935 during the
height of the Great Depression as part of President Franklin Delano Roose-
velt’s New Deal package to bring the economy around and provide relief for
the millions of unemployed throughout the country: the goal of the program
was to maintain people’s skills and respect by providing work to as many as
possible during this period of massive unemployment. For the eight years that
the WPA was in existence from 1935 to 1943, the WPA was responsible for
providing jobs to approximately eight million people at a cost of more than
eleven billion dollars.

One of the more controversial programs of the WPA was the Federal Arts
Project, a program to employ artists full-time at such tasks as painting murals
in libraries, theaters, train stations, and airports; teaching various techniques of
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art; and preparing a comprehensive study of American crafts. Criticism of the
program centered on what was perceived as the frivolity of supporting the arts
at a time when millions were starving, industry was sagging, farms were bar-
ren, and all that could flourish were bankruptcy courts and soup kitchens.

29.

30.

31.

32.

33.

34.

35.

This passage mainly discusses ...

(A) the Great Depression;

(B) the benefits of Franklin Delano Roosevelt’s New Deal;
(C) the New Deal and one of its controversies;

(D) bankruptcy courts and soup kitchens.

The word ‘package’ in line 2 could best be replaced by ...
(A) carton;

(B) secret gift;

(C) box;

(D) bundle of related items.

According to the passage, the stated purpose of the WPA was to...
(A) create new American masterpieces;

(B) raise the standard of American art;

(C) introduce new art techniques to the American public;
(D) improve the economy.

The word ‘massive’ in line 5 is closest in meaning to ...
(A)tremendous;
(B)rocky;
(C)clustered,;
(D)dangerous.

The word ‘controversial’ in line 8 is closest in meaning to ...

(A) disputed;

(B) successful;

(C) creative;

(D) comprehensive.

All the following probably helped to make the Federal Arts Project con-

troversial except that...

(A) the Federal Arts Project employed many who would otherwise have
been out of work;

(B)train stations and airports were decorated with murals;

(C)the Federal Arts Project commissioned art works;

(D)a tremendous study of American crafts was produced.

The expression ‘centered on’ in line 11 could best be replaced by...
(A) encircled;
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(B) located on;
(C) focused on;
(D) surrounded.
36. When the author states that ... all that could flourish were bankruptcy
courts and soup kitchens’, he probably means that...
(A) banks and restaurants did well during the depression;
(B) the poor could not afford to use banks or eat soup;
(C) the only organizations to thrive were those that dealt with the poor;
(D) many restaurants declared bankruptcy during the Depression.
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A.

10.

1.

12.

13.

14.

15.

BANKING

Directions. In questions 1-15 each sentence has four underlined words or
phrases. The four Underlined parts of the sentence are marked (A4), (B), (C)
and (D). Identify the one underlined word or phrase that must be changed
in order for the sentence to be correct.

. Alexander Hemilton’s financial program (A) included a (B) central bank
to serve the Treasury, provide a depositary for public money, and
(C) regulation of the (D) currency.

. Since banks usually give gifts to customers (A) who (B) deposited large

amounts to savings accounts; it is a good idea (C) to ask the bank offi-

cials whether you (D) are entitled to receive one.

Neither my traveler’s check nor the money that my father (A) cabled me

(B) are sufficient (C) to pay (B) for the tickets.

(A) The high the rate of inflation, (B) the higher (C) the price of

(D) commodities.

. (A) As every (B) other nation, the (C) United States used to define (D) its

unit of currency, the dollar, in terms of the gold standard.

Bank deposits are (A) a medium of exchange (B) because (C) it is gener-

ally accepted (D) as payment.

You can write a cheque to yourself or (A) a third party and the bank

(B) 1s obliging (C) to pay whenever the cheque (D) is presented.

. Reserves are the amount of gold (A) this is immediately (B) available in

the vault (C) to meet (D) depositor’s demands.

(A) A financial intermediary is an institutional that (B) specialized in (C)

having brought lenders and borrowers (D) together.

(A) A commercial bank borrows money from (B) public, crediting

(C) them with (D) a deposit.

The crucial feature of banks (A) are that some of their liabilities are used

(B) as a means of payment, and (C) therefore part of (D) the money stock.

Liquidity (A) refers on the sped and the certainly (B) with which an asset

(C) can be converted back into money, (D) whenever the assetholders de-

sire.

Although these assets (A) are traded daily on the stock exchange, so in

principle these securities (B) can be cashed in any time the bank (C) is

wishing, their price fluctuates from (D) day to day.

(A) In the 1980s the government removed controls on the amount of de-

posits the banking sector (B) could attract, and (C) increased the range of

deposit accounts which could (D) pay interests.

(A) The latter meant that deposits could (B) be increasingly used (C) as a
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store of wealth, rather that (D) hold just for transactions purposes.

B. Read the following passages. They are followed by several questions about
them. For questions 16-31 you are to choose the one best answer, (A), (B),
(C), or (D), to each question.

A massive banking crisis occurred in the United States in 1933. In the two
preceding years, a large number of banks had failed, and fear of lost savings
had prompted many depositors to remove their funds from bands. Problems
became so serious in the state of Michigan that Governor William A. Com-
stock was forced to declare a moratorium on all banking activities in the state
on February 14, 1933. The panic in Michigan quickly spread to other states,
and on March 6, President Franklin D. Roosevelt declared a banking morato-
rium throughout the United States that left the entire country without banking
services.

Congress immediately met in a special session to solve the banking crises
and on March 9 passed the Emergency Banking Act of 1933 to assist finan-
cially healthy banks to reopen. By March 15, banks controlling 90 percent of
the country’s financial reserves were again open for business.

16. The passage states that all the following occurred prior to 1933 EXCEPT
that...
(A) many banks went under.
(B) many bank patrons were afraid of losing their deposits.
(C) alot of money was withdrawn from accounts.
(D) Governor Comstock canceled all banking activities in Michigan.
17. The word “moratorium” in line 4 is closest in meaning to which of the
following?
(A) Death.
(B) Temporary cessation.
(C) Murder.
(D) Slow decline.
18. The passage indicates that the moratorium declared by Roosevelt af-
fected...
(A) the banks in Michigan.
(B) the banks in most of the U.S.
(C) only the financially unhealthy banks
(D) all the banks in the U.S.
19. Which of the following can be inferred from the passage?
(A) Congress did not give any special priority to the banking situation.
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(B) The Emergency Banking Act helped all banks to reopen.
(C) Ten percent of the country’s money was in financially unhealthy banks.
(D) Ninety percent of the banks reopened by the middle of March.
20. Which of the following best describes the organization of the passage?
(A) A theme followed by an example.
(B) A problem and a solution.
(C) Opposing viewpoints of an issue.
(D) A problem and its causes.

The organization that today is known as the Bank of America did start out
in America, but under quite a different name. Italian American A.P. Giannini
established this bank on October 17,1904, in a renovated saloon in San Fran-
cisco’s Italian community of North Beach under the name Bank of Italy, with
immigrants and first-time bank customers comprising the majority of his first
customers. During its development, Giannini’s bank survived major crises in
the form of a natural disaster and a major economic upheaval that not all other
banks were able to overcome.

One major test for Giannini’s bank occurred on April 18, 1906, when a
massive earthquake struck San Francisco, followed by a raging fire that de-
stroyed much of the city. Giannini obtained two wagons and teams of horses,
filled the wagons with the banks reserves, mostly in the form of gold, covered
the reserves with crates of oranges, and escaped from the chaos of the city
with his cl9ients’ funds protected. In the aftermath of the disaster Giannini’s
banks was the first to resume operations. Unable to install the bank in a proper
office setting, Giannini opened up shop on the Washington Street Wharf on a
makeshift desk created from board and barrels.

In the period following the 1906 fire, the Bank of Italy continued to pros-
per and expand. By 1918 there were twenty-four branches of the Bank of Italy,
and by 1928 Giannini had acquired numerous other banks, including a Bank of
America located in New York City. In 1930 he consolidated all the branches
of the Bank of Italy, the Bank of America in New York City, and another
Bank of America that he had formed in Cal9ifornia into the Bank of America
National Trust and Savings Association.

A second major crisis for the bank occurred during the Great Depression of
the 1930’s Although Giannini had already retired prior to the darkest days of
the Depression, he became incensed when his successor began selling off
banks during the bad economic times. Giannini resumed leadership of the
bank at the age of sixty-two. Under Giannini’s leadership, the bank weathered
the storm of the Depression and subsequently moved into a phase of overseas
development.
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21.

22.

23.

24.

19.

20.

21.

22.

According to the passage, Giannini...

(A) opened the Bank of America in 1904.

(B) worked in a bank in Italy.

(C) set up the Bank of America prior to setting up the Bank of Italy.
(D) later changed the name of the Bank of Italy.

Where did Giannini open his first bank?

(A) In New York City.

(B) In what used to be a bar.

(C) On Washington Street Wharf.

(D) On a makeshift desk.

According to the passage, which of the following is NOT true about the
San Francisco earthquake?

(A) It happened in 1906.

(B) It occurred in the aftermath of a fire.

(C) It caused problems for Giannini’s bank.

(D) It was a tremendous earthquake.

The word “raging” in line 8 could best be replaced by...

(A) angered;

(B) localized;

(C) intense;

(D) feeble.

It can be inferred from the passage that Giannini used crates of oranges
after the earthquake...

(A) to hide the gold.

(B) to fill up the wagons.

(C) to provide nourishment for his customers.

(D) to protect the gold from the fire.

The word “chaos” in line 10 is closest in meaning to...

(A) legal system.

(B) extreme heat.

(C) overdevelopment.

(D) total confusion.

The word “consolidates” in line 17 is closest in meaning to...
(A) hardened.

(B) merged.

(C) moved.

(D) sold.

The passage states that after his retirement, Giannini...
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(A) began selling off banks.

(B) caused economic misfortune to occur.
(C) supported the bank’s new management.
(D) returned to work.

23.The expression “weathered the storm of” in line 23 could best be replaced
by...
(A) found a cure for.
(B) rained on the parade of.
(C) survived the ordeal of.
(D) blew its stack at.

24.Where in the passage does the author describe Giannini’s first banking cli-
ents?
(A) Lines 2-5.
(B) Lines 7-8.
(C) Lines 12-13.
(D) Lines 14-16.

25.The paragraph following the passage most likely discusses...
(A) bank failures during the Great Depression.
(B) a third major crisis of the Bank of America.
(C) the international development of the Bank of America.
(D) how Giannini spent his retirement.
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MANAGEMENT

A. Directions. In questions 1-22 each sentence has four underlined words or

9,

~ o

1.

12.

13.

14.

15.

16.

17.

phrases. The four Underlined parts of the sentence are marked (A), (B),
(C),and (D). Identify the one underlined word or phrase that must be
changed in order for the sentence to be correct.

1.

The Internal Revenue Service (A) uses computers to check tax return
(B) computations, to determine the reasonableness of deductions, and
(C) for verifying the accuracy of (D) reported income.

(A) Some economists now suggest that home equity loans (B) are merely
a new trap to push consumers (C) beyond what (D) had been affordable.

. (A) Some general theories of motivation identify (B) limited number of

central motives, (C) from which (D) other motives develop.
(A) Prices for (B) bikes can (C) run (D) as high to $250.

. The value (A) of the dollar (B) declines (C) as the rate of inflation

(D) raises.
The new model (A) costs twice (B) more than (C) last (D) year’s model.

. The rest of the stockholders (A) will receive (B) his reports (C) in_the

mail along with a copy of (D) today’s proceedings.

. J.P. Morgan (A) had (B) a reputation (C) in being a prudent

(D) businessman.

(A) The Consumer Price Index (B) lists (C) how much every car (D) cost.
(A) A balance of international payment (B) refers to the result of the
business which a nation (C) carries on with other nations in a given
(D) periods.

The Internal Revenue (A) Service makes all Americans (B) to file
(C) their tax forms (D) by April 15 every year.

(A) Despite of the increase in air fares, most people (B) still (C) prefer
(D) to travel by plane.

Economists have tried (A) to discourage (B) the use of the phrase under-
developed nation and (C) encouraging the more accurate phrase “devel-
oping nation” (D) in order to suggest an ongoing process.

Home buyers (A) is proceeding (B) cautiously (C) because of the high in-
terest (D) rates.

As the demand (A) increases, manufactures who previously produced
only a large luxury car, (B) is compelled (C) to make (D) a smaller model
in order to compete in the market.

The interest (A) rate on a (B) minimum balance savings account is a little
higher (C) then the interest rate on a regular (D) savings account.

(A) Finances can (B) consists of a combination of stocks, (C) bonds, and
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(D) properties.
18. Top management must (A) took a hard (B) look at its current (C) product

lines to see if resources can (D) be reallocated.

19. To control quality and (A) making decisions (B) about production (C) are
(D) among the many responsibilities of an industrial engineer.

20. Let you and (A) I agree (B) to cancel the last shipment unless the com-
pany (C) meets the conditions of (D) our original contract.

21. Itis necessary that the direction (A) will sign (B) all (C) of the copies, not
just the (D) top one.

22. (A) Statistics (B) show that (C) the greatest number of B.A. degrees in
recent years (D) has been conferring in the fields of business manage-
ment, education, and social science.

B. Read the following passage. They are followed by several questions about
them. For questions 23-32 you are to choose the one best answer, (A), (B),
(C), or (D), to each question.

Passage 1

Although the composition and role of the board of directors of a company
will vary from one organization to the next, a few generalizations may be
made. As regards the composition of the board, customarily some directors are
prominent men and women selected to give prestige to the group. Others are
usually chosen from among retired executives of the organization for their
specialized knowledge of the company.

It is generally true that, as long as the top management maintains the confi-
dence of the board of directors, the directors will not actively intervene to dic-
tate specific policies. This is the same administrative procedure usually fol-
lowed by the board of trustees of a college or university, and is similar many
respects to the parliamentary system of ministerial responsibility practiced in
Great Britain.

23. The word prominent in line 4 most nearly means...
(A) professional;
(B) ethical;
(C) important;
(D) elderly.
24. Who generally formulates policies for a company?
(A) Top manager.
(B) A dictator.
(C) The board of directors.
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(D) Retired executives.

25. According to this passage, who would not be a likely candidate as a
member of the board of directors of City Bank?
(A) A retired president of City Bank.
(B) A respected lawyer.
(C) A City Bank employee.
(D) A state senator.
26. The title below that best expresses the ideas in this passage is...
(A) The Board of Directors.
(B) The Board of Trustees.
(C) The Parliamentary System.
(D) Management.

Passage 2

Eight basic practices have been found to be characteristics of successfully
managing companies. One of these is management’s “bias toward action; this
was manifest in a willingness to experiment and take risks. In such a company
all new ideas get tested and then get stored rather than discarded if they don’t
work right away. Long, detailed strategies are not the rule, and ideas are solic-
ited from everyone, not just from corporate planners.

Many of these ideas are considered part of the management’s conventional
wisdom in highly profitable Japanese corporations, but few of them are com-
mon practice in the majority of American business concerns, many of which
do not realize the New Law of Business Life: that strong cultures make for
highly successful companies.

27. What does the word “these” in line 2 refer to?
(A) Basic practices.
(B) Successfully managed companies.
(C) New ideas.
(D) Different styles of management.
28. What does the word “this” in line 2 refer to?
(A) The action of management.
(B) A bias toward action.
(C) A willingness to experiment.
(D) Evidence of risk-taking.
29. What do the words “such a company” in line 3 refer to?
(A) One that is successful.
(B) One that plans ahead.
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(C) One that takes risks.
(D) One that likes long’ detailed strategies.
30. What do the words “these ideas” in line 7 refer to?
(A) Basic practices.
(B) Strong cultures.
(C) Careful strategies.
(D) Ideas suggested by all employers.
31. What does the word “them” in line 8 refer to?
(A) Conventional methods.
(B) Japanese companies.
(C) These ideas.
(D) Business concerns.

32. What does the word “which” in line 9 refer to?
(A) Profitable Japanese corporations.
(B) Common business practices.

(C) American business concerns.
(D) New Law of Business Life.
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ACCOUNTING

A. Questions 1-6 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (4), (B), (C), and (D). Choose the one
word or phrase that best completes the sentence.

1.

Some economists are proposing that the United States Institute a con-
sumption tax rather than an income tax.

(A) in Addition to;

(B) in place of;

(C) at the expense of;

(D) alongside.

. The “Consumers Price Index” lists...

(A) how much costs every car.

(B) how much does every car cost.

(C) how much every car costs.

(D) how much are every car cost.

The life fund is a pool of money into which all the premiums are paid and
from which all ... are eventually paid out.

(A) loans;

(B) savings;

(C) benefits;

(D) interest.

Insurance makes trading easier by ... a variety of risks.
(A) eliminating;

(B) describing;

(C) ensuring;

(D) creating.

. California relies heavily on income from Kruit Crops, and ...

(A) Florida also.

(B) Florida too.

(C) Florida is as well.

(D) so does Florida.

This year will be difficult for this organization because...

(A) they have less money and volunteers than they had last year.

(B) it has less money and fewer volunteers than it had last year.

(C) the last year it did not have as few and little volunteers and money.
(D) there are fewer money and volunteers that in the last year there were.
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B. In questions 7-9 each sentence has an underlined word or phrase. Below
each sentence are four other words or phrases, marked (A), (B), (C), and
(D). You are to choose the one word or phrase that best keeps the meaning of

the original sentence if it is substituted for the underlined word or phrase.

7. The new accounts offered by the bank are compounded semi-annually.

(A) every year;

(B) every six months;
(C) every two years;
(D) every half month.

. Discretionary funds are included in most budgets to cover expenses that

the constructor might run into during the work.

(A) forget to do;

(B) pay for;

(C) meet unexpectedly;

(D) add on.

City taxes are based on an estimate of the value of one’s property.
(A) appraisal;

(B) forecast;

(C) diagnosis;

(D) outline.

C. Directions: In questions 10-20 each sentence has four underlined words or
phrases. The four Underlined parts of the sentence are marked

(A),(B),(C),and (D). Identify the one underlined word or phrase that must
be changed in order for the sentence to be correct.

10. Harvey seldom (A) pays his bills (B) on time and (C) his brother (D) does too.

11. Each of (A) the students (B) in the accounting class has to type (C) their
(D) own research paper this semester.

12. Merchants and (A) others people have kept (B) records of their transac-
tions (C) since very (D) early times.

13. In 1494 Luca Pacioli (A) has written a book where the system (B) of ac-
counting which (C) evolved (D) among the merchants of Italy was formu-
lated.

14. In 1605 a (A) Dutchman, Simon Stevin, advocated that the profit and
(B) loss account should (C) produce at (D) yearly intervals.

15. Some companies are large (A) enough (B) to employment a permanent
tax specialist, but (C) in most cases the practicing accountant with special
taxation expertise will (D) undertake this work.

16. The practitioner may find himself involved with tax planning, advising
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17.

18.

19.

20.

g)

h)

his clients (A) either companies (B)and individuals, on how best (C) to
reduce the burden (D) of taxation.

(A) Many small (B) business receive advice (C) as to how to finance
(D) their operations from the practitioner.

The type (A) of work done by (B) executive accountants can (C) be fur-
ther (D) subdivide.

(A) Financial accountants act (B) as stewards, showing the financial
(C) effect of the actions (D) by the owners and managers of the business.
The financial accountant (A) produces (B) the accounts which are
(C) letter checked (D) by the auditor.

Reorder the sentences below to create one coherent text. Underline all
the connecting words which help you to do this.

Firstly money is collected at source from everyone in Australia who has a
job.

Tax on petrol is also aimed at reducing the number of vehicles on the
roads by discouraging motorists from using their cars.

The Australian government collects tax in a number of different ways.
Income tax, as this is known, can be as high as 48% for some people.

In addition to this tax on luxuries, there is a special tax on fuel which
brings in a large amount of revenue for the government.

Secondly, the government gains money by imposing tax on all goods pur-
chased or services received so that every time money changes hands a tax
of 10% is paid.

The term “services” includes anything from getting a haircut to having
your house painted.

Another way that the government raises money is by charging an addi-
tional tax on luxuries such as wine, tobacco or perfume.
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MARKETING

A. Directions: In questions 1-8 each sentence has four underlined words or
phrases. The four Underlined parts of the sentence are marked (A), (B),

(C), and (D). ldentify the one underlined word or phrase that must be
changed in order for the sentence to be correct.

1.

The sales representatives were asked to go over the figures in their reports
before the conference.

(A) relate;

(B) revise;

(C) review;

(D) calculate.

. The warranty guaranteed that all defective parts would be replaced with-

out charge.
(A) lost;

(B) imperfect;
(C) unused;
(D) dorsal.

. If a country has a floating currency, importers and exporters may have to

keep changing the prices of their goods.
(A) swimming;

(B) flying;

(C) flowing;

(D) soft.

Some countries try to be saturated with certain commodities so that they
are not dependent of imports.

(A) economic;

(B) sufficient;

(C) self-sufficient;

(D) self-financing.

. It’s better to start exporting on a small scale and than expand if things go
well.
(A) enlargement;
(B) bigger;

(C) increase;

(D) shorten.

Because of high shipping costs, it made more sense to give rights to a
manufacturer to produce our range of furniture.

(A) to license;
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(B) lease;
(C) control;
(D) handle.
7. Quality control is an essential aspect of the manufacturing process.
(A) an alternative;
(B) an introspective;
(C) an encompassing;
(D) anecessary.
8. Some manufacturers were accused of selling goods abroad at a very low
price because they are not wanted in the home market.
(A) dumping;
(B) revaluing;
(C) flooding;
(D) devaluation.

B. Directions: In questions 9-17 each sentence has four underlined words or
phrases. The four Underlined parts of the sentence are marked (A), (B),
(C), and (D). ldentify the one underlined word or phrase that must be
changed in order for the sentence to be correct.

9. That product that you (A) bought at the lower price is (B) the more infe-
rior to the (C) one that we see at a (D) slightly higher price.

10. The manufacturer is not only (A) raising his price but (B) also decreasing
the (C) production of his product (D) as well.

11. (A) It is the responsibility of the marketing department (B) to promote
and (C) to organize the sale of products (D) to the purchaser.

12. (A) It is questions (B) like these the marketing department (C) will have
to answer even before production (D) will commence .

13. (A) It becomes (B) obviously that making and selling (C) are two facets
of the same (D) undertaking.

14. The marketing manager and the production manager (A) are two mem-
bers of the same team, depending (B) on each other in much the same
way (C) as the players (D) in the Liverpool football team.

15. (A) As well as satisfying (B) existing needs, marketers can also anticipate
and create new (C) ones (D) needs.

16. (A) A product’s features, the methods of distributing and (B) promotion
it, and (C) its price, can all be changed during (D) the course of its life.

17. (A) Quite (B) apart from the marketing of consumer products, with which
everybody is familiar, (C) it is (D) a great deal of marketing of industrial
goods.
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C. Read the following passage. They are followed by several questions about
them. For questions 18-27 you are to choose the one best answer, (A), (B),
(C), or (D), to each question.

The “karat” marking on jewelry tells you what proportion of gold is mixed
with other methods. If 14 parts of gold are mixed with 10 parts of base metal,
the combination is called 14 karat (14k) gold. The higher the Karat rating, the
higher the proportion of gold in the object. The lowest karat gold that can be
marketed in the USA is 10 karat. Jewelry does not have to be marked with its
karat quality but most of it is. If there is a karat quality mark, next to it must
be the US registered trademark of the person or company that will stand be-
hind the mark, as required by the National Gold & Silver Stampiny Act.

18. “Propotion” most nearly means...
(A) ratio;
(B) mix;
(C) registered;
(D) quality.
19. Ifaring is stamped 24 k, in has...
(A) 204 parts gold;
(B) 24 parts gold;
(C) two and four-tenths parts gold;
(D) 10 parts gold.
20. “Registered” most nearly means...
(A) documented;
(B) marketed;
(C) mixed;
(D) stamped.
21. According to the text, the phrase “stand behind” most nearly means...
(A) not in front;
(B) to the side;
(C) back up;
(D) give up.
22. “Marketed” most nearly means
(A) engrated;
(B) registered;
(C) mixed;
(D) sold.
23. “Karat” as it used in the jewelry industry, refers to the ...
(A) jeweler’s appraisal;
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24.

25.

26.

217.

(B) U.S. registered trademark;

(C) amount of gold mixed with other metals;

(D) money value.

Gold which is 10 karat in proportion...

(A) represents the highest grade of gold in the U.S.;

(B) cannot be sold in the U.S.;

(C) never carries a karat quality mark;

(D) represents the lowest-grade gold marketable in the U.S.
If gold is marked with a karat quality mark, it must also...
(A) bear a national gold and silver stamp;

(B) bear the registered trademark of the entity standing behind the mark;
(C) bear a “made in the USA” mark;

(D) bear a percentage mark.

If the jewelry is marked, 14 parts of gold mixed with 10 parts of base
metal will always bear...

(A) a 14k mark ;

(B) a 10k mark;

(C) an 18k mark;

(D) a platinum mark.

This paragraph serves the consumer as...

(A) important buying information;

(B) a challenge to buy more gold;

(C) a debate over gold prices;

(D) advice about buying silver.
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ADVERTISING

A. Directions: In questions 1-11each sentence has four underlined words or

10.

1.

12.

phrases. The four Underlined parts of the sentence are marked (A), (B),
(C), and (D). ldentify the one underlined word or phrase that must be
changed in order for the sentence to be correct.

1.

The “Fairness Doctrine” of the FCC (A) requires that radio and television
(B) stations give equal time to (C) opposing sides of (D) issues contro-
versial.

. Major (A) advertising companies have (B) traditionally volunteered

(C) its time (D) to public service accounts.

The (A) six main parts of a (B) business letter (C) are the address, the inside
address, the salutation, the body, the closing, and (D) signing your name.

A new product (A) should be judged not (B) by the promises made in
commercials and advertisements, (C) but also by the results
(D) demonstrated in actual use.

. Commercials on the educational television network (A) are (B) generally

shorter (C) comparing to those (D) on other networks.

In the (A) cosmetics world Avon Products Inc. (B) emphasizes
(C) personnel selling (D) while Revlon Inc. emphasizes advertising.
Public relations (A) are concerned primarily with people outside (B) the
target market, although (C) it (D) may include them.

. (A) Customer’s contact (B) personnel are (C) an important secondary au-

dience (D) for service advertising.

Writers and media (A) personnel sell (B) theirselves best (C) by the im-
pression given in their verbal (D) expression.

While verbalization is (A) the most common form of language in
(B) existence, humans make use of many (C) others systems and tech-
niques (D) to express their thoughts and feelings.

Writers and media (A) personal sell (B) themselves best (C) by the im-
pression given in their verbal (D) expression.

Questions 12-23 are incomplete sentences. Beneath each sentence you
will see four words or phrases, marked (4), (B), (C), and (D). Choose the
one word or phrase that best completes the sentence.

With effective advertising a company can become a ... name.
(A) house;

(B) household;

(C) housewife’s;
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13.

14.

15.

16.

17.

18.

19.

20.

(D) home.

We need an effective campaign to ... our new product range.

(A) fire;

(B) set out;
(C) set off;
(D) launch.

During the commercial ... , there was an advertisement for a new

women’s magazine.
(A) break;

(B) breakage;

(C) pause;

(D) interval.

The first thing an ad must do is ... the reader’s eye.

(A) trap;
(B) catch;
(C) find;
(D) reach.

We need a name for the product which will ... to teenagers.

(A) draw;
(B) attract;
(C) succeed;
(D) appeal.

All advertisers must obey the industry’s ... .

(A) practice code;
(B) code of practice;
(C) practical code;
(D) code word.

Advertising on television is very expensive during ... viewing hours.

(A) peak;
(B) high;
(C) audience;
(D) big.

We did a lot of research to ensure that the advertisement would appeal to

the ... audience.
(A) aim;

(B) arrival;
(C) goal;

(D) target.

Newspaper advertising ... for 45% of the total.

(A) accounted;

85



(B) counted;
(C) comprised;
(D) came.
21. Advertisers look at each newspaper’s ... figures before deciding where to
place their advertisements.
(A) circular;
(B) population;
(C) circulation;
(D) revenue.
22. Ifyou advertise at airports, you have a ... audience.
(A) captured;
(B) slave;
(C) captivated;
(D) captive.
23. She does the art work while I write the ... for each advertisement.
(A) copy;
(B) copies;
(C) copyright;
(D) media.

B. Skim the following two passages very quickly. Do not read every word
carefully. Then answer the first questions under each passage. Look again
at the two passages that you skimmed, scan them and then answer the sec-
ond questions under each passage.

It is true that in publicity one brand of manufacture, one firm, competes
with another; but it is also true that every publicity image confirms and en-
hances every other. Publicity is not merely an assembly of competing mas-
sages: it is a language in itself which is always being used to make the same
general proposal. Within publicity, choices are offered between this cream and
that cream, that car and this car, but publicity as a system only makes a single
proposal. It proposes to each of us that we transform ourselves, or our lives, by
buying something.

24. What is the passage about?

(A) The effects of publicity.

(B) Competition between systems.

(C) Making general proposals.

(D) The transformation of the world around us.
25. What does the language of publicity do?

(A) It makes one general proposal.

86



(B) It transforms all of us.
(C) It enhances everyone’s lives.
(D) It assembles confusing massages.

One of the most widespread uses of survey research today is for rating ra-
dio and television programs. Commercial ratings of network radio programs
were first undertaken by the C.E. Hooper Company in 1935. Then, the A.C.
Nielsen Company, founded in the early 1940’s, invented its mechanical re-
cording device, the audiometer, that was attached to radio receivers to monitor
the station and the amount of time a set was tuned in to it. Neilson bought the
Hooper Company in 1950. By the mid-1970s Neilson was offering an ‘instan-
taneous Neilson’ service by connecting some 1,200 sets to a central computer
for overnight tabulation of audience.

26. What is the passage about?
(A) Survey research for radio and television ratings.
(B) The relation between the Hooper Company and the Neilson Company.
(C) The uses of central computers.
(D) How radios are monitored by stations.

27. When was the first commercial rating of radio programs?
(A) Inthe 1950’s.
(B) Inthe 1940’s.
(C) Inthe 1970’s.
(D) Inthe 1930’s.
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READING COMPREHENSION IN GMAT

Directions: Below the passage you will find questions or incomplete state-
ments about the passage. Each statement or question is followed by lettered
words or expressions. Select the word or expression that most satisfactorily
completes each statements or answers each question in accordance with the
meaning of the passage.

The high unemployment rates of the early 1960s occasioned a spirited
debate within the economics profession. One group found the primary
cause of unemployment in slow growth and the solution in economic ex-
pansion. The other found the major explanation in changes that had oc-
curred in the supply and demand for labor and stressed measures for
matching demand with supply.

The expansionist school of thought, with the Council of Economic Advis-
ers as its leading advocates, attributed the persistently high unemployment
level to a slow rate of economic growth resulting from a deficiency of aggre-
gate demand for goods and services. The majority of this school endorsed the
position of the Council that tax reduction would eventually reduce the unem-
ployment level to 4% of the labor force with no other assistance. At 4%, bot-
tlenecks in skilled labor, middle-level manpower and professional personnel
were expected to retard growth and generate wage-price pressures. To go be-
yond 4%, the interim goal of the Council, it was recognized that improved
education, training and retraining and other structural measures would be re-
quired. Some expansionists insisted that the demand for goods and services
was nearly satiated and that it was impossible for the private sector to absorb a
significant increase in output. In their estimate, only the lower-income fifth of
the population and the public sector offered sufficient outlets for the produc-
tive efforts of the potential labor force. The fact that the needs of the poor and
the many unmet demands for public services held higher priority than the de-
mands of the marketplace in the value structure of this group no doubt influ-
enced their economic judgments.

Those who found the major cause of unemployment in structural features
were primarily labor economists, concerned professionally with efficient func-
tioning of labor markets through programs to develop skills and place individ-
ual workers. They maintained that increased aggregate demand was a neces-
sary but not sufficient condition for reaching either the CEA's 4% target or
their own preferred 3%. This pessimism was based, in part, on the conclusion
that unemployment among the young, the unskilled, minority groups and de-
pressed geographical areas is not easily attacked by increasing general de-
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mand. Further, their estimate of the numbers of potential members of the labor
force who had withdrawn or not entered because of lack of employment op-
portunity was substantially higher than that of the CEA. They also projected
that increased demand would put added pressure on skills already in short
supply rather than employ the unemployed, and that because of technological
change, which was replacing manpower, much higher levels of demand would
be necessary to create the same number of jobs.

The structural school, too, had its hyper-enthusiasts: Fiscal conservatives
who, as an alternative to expansionary policies, argued the not very plausible
position that a job was available for every person, provided only that he or she
had the requisite skills or would relocate. Such extremist positions aside, there
was actually considerable agreement between two main groups, though this
was not recognized at the time. Both realized the advisability of a tax cut to
increase demand, and both needed to reduce unemployment below a point
around 4%. In either case, the policy implications differed in emphasis and not
in content.

1. The primary purpose of the passage is to...

a) suggest some ways in which tools to manipulate aggregate demand and
eliminate structural deficiencies can be used to reduce the level of un-
employment;

b) demonstrate that there was a good deal of agreement between the ex-
pansionist and structuralist theories on how to reduce unemployment in
the 1960s;

c) explain the way in which structural; inefficiencies prevent the achieve-
ment of a low rate of unemployment without wage-price pressures;

d) discuss the disunity within the expansionist and structuralist schools to
show its relationship to the inability of the government to reduce unem-
ployment to 4%;

e) describe the role of the Council of Economic Advisers in advocating
expansionist policies to reduce unemployment to 4%.

2. Which of the following is not mentioned in the passage as a possible bar-
rier to achieving a 4% unemployment rate through increased aggregate
demand?

a) Technological innovation reduces the need for workers, so larger in-
creases in demand are needed to employ the same number of workers.

b) The increase in output necessary to meet an increase in aggregate de-
mand requires skilled labor, which is already in short supply, rather than
unskilled labor, which is available.
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c) An increase in aggregate demand will not create jobs for certain sub-
groups of unemployed persons such as minority groups and young and
unskilled workers.

d) Even if the tax reduction increases aggregate demand, many unem-
ployed workers will be unwilling to relocate to jobs located in areas
where there is a shortage of labor.

e) An increase in the number of available jobs will encourage people not
in the labor market to enter it, which in turn will keep the unemploy-
ment rate high.

. The author's treatment of the "hyperenthusiasts" can best be described as
one of...

a) strong approval;

b) lighthearted appreciation

c) summary dismissal

d) contemptuous sarcasm

e) malicious rebuke

. Which of the following best describes the difference between the position
taken by the Council of Economic Advisers and that taken by dissenting
expansionists?

a) Whereas the Council of Economic Advisers emphasized the need for a
tax cut to stimulate general demand, the dissenters stressed the impor-
tance of structural measures such as education and training.

b) Although the dissenters agreed that an increase in demand was neces-
sary to reduce unemployment, they argued government spending to in-
crease demand should fund programs for lower income groups and pub-
lic services.

c) The Council of Economic Advisers set a 4% unemployment rate as its
goal, and dissenting expansionists advocated a goal 0f3%.

d) The Council of Economic Advisers rejected the contention, advanced
by the dissenting expansionists, that a tax cut would help to create in-
creased demand.

e) The dissenting expansionists were critical of the Council of Economic
Advisers because members of the Council advocated politically conser-
vative policies.

The passage contains information that helps to explain which of the fol-

lowing?
1) The fact that the economy did not expand rapidly in the early 1960s.
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2) The start of wage-price pressures as the employment rate approaches
4%.
3) The harmful effects of unemployment on an individual worker.
a) 1) only;
b) 2) only;
c) 1) and 2) only;
d) 1) and 3) only;
e) 1),2)and 3).

. Which of the following best describes the author's attitude toward the ex-

pansionists mentioned in line 9?

a) The author doubts the validity of their conclusions because they were
not trained economists.

b) The author discounts the value of their judgment because it was colored
by their political viewpoint.

c) The author refuses to evaluate the value of their contention because he
lacks sufficient information.

d) The author accepts their viewpoint until it can be demonstrated that it is
incorrect.

e) The author endorses the principles on which their conclusions are based
but believes their proposal to be impractical.

. It can be inferred from the passage that the hyperenthusiasts (lines 59-64)

contended that

a) the problem of unemployment could be solved without government re-
training and education programs;

b) the number of persons unemployed was greatly overestimated by the
Council of Economic Advisers;

c) a goal of 3% unemployment could not be reached unless the govern-
ment enacted retraining and education programs;

d) the poor had a greater need for expanded government services than the
more affluent portion of the population;

e) fiscal policies alone were powerful enough to reduce the unemployment
rate to 4% of the work force.
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KEYS

Assessment Tests

Task 1. 1) remuneration package; 2) fee; 3) salary; 4) fringe 5) benefits/perks;
6) wages; 7) tycoon.

Task 2. 1-f; 2—d; 3-b; 4—¢; 5—c; 6-a.
Task 3. 1) in, of; 2) at, for; 3) for; 4) by; 5) on; 6)for, in.
Task 4. 1-c; 2—a; 3—c; 4-b. ‘ Task 5. 1-c; 2—a; 3-b.

Task 6. Tycoon; entrepreneur; job-setting; fringe benefits/perks; wages; sal-
ary; forecast; academic; distribution; economic; economical; tax revenue; to
qualify as an economist to have flair for ...; Bachelor’s degree; Master’s De-
gree; to run one’s own business; costs.

GMAT

1-b; 2—a; 3—a; 4—; 5—a; 6-b; 7-d.
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